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INSTRUCTIONS

Do not open the Question Booklet before 9:00 a.m.

Read the question carefully before marking the right answer in the appropriate circle of the OMR Answer-Sheet.

4+ No candidate will be allowed to appear in the examination without Admit Card and it should be produced before

the Invigilator when asked.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the

Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.

Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her

own risk.

Any candidate found using unfair means or violating the above or any of the examination rules shall be

disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.

Candidate should not make any stray marks on the OMR Answer-Sheet.

Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

Candidates will have to sign twice, once in the Attendance sheet/Roll sheet presented by the Invigilator on duty

after taking their seats in the Examination Hall, and other in the form provided to them at the time of handing

over their Question Booklet and OMR Answer-Sheet to the Invigilator after completion of Examination. Cases
where a candidate has not signed and not submitted the OMR Answer-Sheet and the Question Booklet after the
examination is over, he/she shall be treated as absent.

4+ The candidate has to return the Question Booklet along with the OMR Answer-Sheet to the Invigilator before
leaving the Examination Hall.

4+ Candidate should do all the necessary Rough Work on the Question Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

4+ There will be one single OMR Answer-Sheet for all the questions. No extra Answer-Sheet will be provided
for any mistake or correction.

+ The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should fill up the
particulars in the OMR Answer-Sheet, i.e., Roll No., Question Booklet No., Question Booklet Code, Language
Code, etc., carefully with blue/black ball-point pen only.

4+ The test is of 2% hours duration and will consist of 150 questions.

4+ The candidate should make sure that the corresponding Question Booklet Code is properly written/
shaded in the OMR Answer-Sheet by him/her. For example, if the candidate gets Question Booklet Code
‘A’, then he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

4+ This Question Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type
questions, all carrying 1 mark each.
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Part-I : Child Development and Pedagogy (Q. Nos. 1-30)
Part-1I : Mathematics (Q. Nos. 31-60)
Part-III : Environmental Studies (Q. Nos. 61-90)
Part-IV : Language-II [English (Compulsory)] (Q. Nos. 91-120)
Part-V : Language-I (Optional) (Q. Nos. 121-150)

[ Any one (optional) of the languages—Assamese, Bengali, Bodo, Hindi, Hmar, Karbi and Alternative English |

4+ There is no negative marking for any wrong answer.

4+ Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/English medium/version for his/her convenience and ready reference. In case of any discrepancy
or confusion in the medium/version, the English version will be treated as the authentic version.

4+ Important : Candidate please see Page No. 5 for Index.



IGEEIEE]

41 9:00 THIA WS 2PFFEL YT |
OMR ¥&3-7[99 IUR JE0HIS ¥F Tea0h! fofes 11 ol st A= =1t 716 |

<+
<+
<+

+ ¢

+ 44+

<+

-7 SR (I ARG o[pwre AT W a7 o o[ew W 1 [o1E, (96 de-A (YRR Fee |
SR Dol 2Pl TEETS (I R A T fCoqO 2e Tl AT T G A Hegwho e 7277 |

I R [T, @ 4999 Fore, (& @ (Mobile), @EHCaa 1 (PG (TR (qPie AR A1 Hefeee 37
[ T (TS SEfe i 7279 | AR Ac@-cla SIF T@-7R% (e [ e e SREfe fr 27 1

AAFIACE Fore o771 (SEEHFT AFCEAER T #[[151 59 Afeqe oo wifrge 14 |

M PleT AR SIS SETF A SO T Tl AR R Tes w9, (908 (06 WAy I Kol
M 2]

YRR fem @ 99 e B oze = (| e

OMR Te3-7q® ZCoehl 2@ Te9 @ [/ @I @l g9 (A), (B), (C) a1 (D) =7 a1 F< |

AAFAE OMR TEI-2[q® ST (FICA 439 w19l 7 TR |

AFAE OMR Teq-7[ge 2/ 5@, ©fw e a1 9 Ff/7 T4 |

TeF-Aq9Te (@I gqeq wie frn, 65 ey frl, eo@i-Teifats forar A1 @2aibie Teq ficel o oo 3fer facaen w1 2731
“REFRPTRCE AR Wl Tefefe/ (@@l ofae (@I FEF I AR, AN79 (DS N0 FHS AP 229 T TS S
%O OMR TEa-71q O 2o Farsas ol R ToEe | (@ 2[waiE T4ffs/ @@ ae fGekar i grwa
TR, (OCTR' T (OECNE Teq-+id &l fafem e «fF e 29

AT FF Sfl9l FAE S9Ce ARFRAIE (T 2re® OMR T6a-71dq F9(S 2oL &l i anifad |

AT FFCE 4991 AT 4541 (rough) FN 2FFes a1 Jizwcz A N4 | 2[rwiE <541 (rough) FIN Ted-719
TS (I @O FlaETe FEA GIRIRE | Teq-7[qe A @3 541 (rough) FN 4_ERAE FC1, (Sfeq=2TE (901 TeI-71@d
TR T T2 |

T 2R A AATFAE 93 @ OMR TeI-7ae el 277 | $o1 2'0e1 1w Fieace Arole (@l $ed-1q fal 72’3 |
2T FIe @<« OMR Ted-7[q Tl 277 | 4_rwiicy oz I OMR Ted-71qe (@1 759, 2RFFed 154, HFFed 3,
R 3T, T AR (@ Al /F A 917G (7[eeTCq 279 FR A |

R TR 2% DB F FFoe 150061 2Ry A |

AW [ @ e e 2ryFiFes T TEh! OMR Sed-+99 e dize forn == | Sweaergameat, »ISrwidicn azel F
2FFOT FT ‘A’ ifFel OMR Ted-o[aF g ofge ‘A’ ferfm =1fom e e g ‘A’Hl a1 FRA =159 | 2iFos
Fa femfe cifvea [mTiE sewde R ook Wi Mo Fens fate 3 1

spedee I, 11, 111, IV S V @3 651 Sre (Part) I9 15051 I293 79 2% A1 S 200! 2@ A 1 7590
219 |

Part-1 : ¥y ey wis férsser-0oat (Q. Nos. 1-30)
Part-II : offe® (Q. Nos. 31-60)
Part-III : “IRGZ SR (Q. Nos. 61-90)
Part-1V : SRI-II [ 3316 (Aree) | (Q. Nos. 91-120)
Part-V : ©&l-1 (&fvzs) (Q. Nos. 121-150)

[ @I @Bt (@ftess) SR—sPiRmI, e, 908, B9, W[, I AT TR 2@ |

T91 e A A YT TH A |

RN (DS AR e AT @ 2FFeq Part-1, Part-11 1 Part-III-3 Si*PTE I29RF 279, @C—SPRR,
N, OV WAE TG | (3 CFAS AW | RFITS (@A (91 e qzq e e iR 270 A& FREHITE
4FS WF e 6 IR |

TR AR fores A S FR P R 5 66T |

LPT-2023/P-1/11-C 2



IGEEIRGEI]

e 9:00 HHFE <o erefaft Yeiea= 1l |
OMR Tea-+tad 7MY efore wa Teais ire wa= =od 2ifls A=Hee 1 e |

<+

<+
<+

++

+ 4+

<+

<+
<+

<+

AR -2[q 2T (T ARFFACE ~[HR P @S 3@ A R 7R FGrwe A0 A0@-71q FHCS b OReE A@¥-71d (IS
21 |

[ BEICS A STER (I AR ~A] Foa (SO At W[l ~ F5F (A0S 130 AN SRR (e 7eq A1l |
RS (T TR, (T @R FITE, (A, FIEFCET A (@I @R (e A A SN aews 78 [ FCF @6
TS A 2@ I | ARFFRICAE (I A7 G3R TR I 2R FOF (AR TS (RS B |
AAFHILE A (IS OIOR FFe] (R WA 7R FCFA qM2Cq oICed wIRICE AHCS 27 |

A (A AR SR T SeTE T 1 Teiea Teard T SRR TR THees S0, W0 ©Ied Slen e [Reanel 91
[ |

AT e @ 759 2eicaq e B =8 F #1eee 2@ |

OMR Te3-7[(a 20o(b A0d Te & @-FF @3 38 (A), (B), (C) a1 (D) 37 Il Face 203 |

AR OMR Ted-7[tq &) (I 4&e[ w5l fee [ = |

AR OMR Teq-+1aft S =1, 1% 41 A 718 IS AR 1 |

Tea-o[@fbce @ @R wie e, B b @edl, @E TR @ A 9 AR G GIIeE Tew e o $el qce [ieasl
0 7A@ |

Ao R crem TeifEfe / (e o AN q A0S 2, ATRA ST AR IO S 220 TR T G9R
ORI OMR Te-7[@ @R 7@ FArsas o eTd SN | (@ ~[rsRl Tfefs/@m #ica 3w Beam =
FCE, ORCE SR TeF-A1@ Tl B A oA FA 2 |

R T el SN A ARERICE FEes 209 OMR TeR-Alcdd e Re@i el e 26 |

APFIA AT 4RCTH LG P78 (rough) FG 290G RS BICe FACS 2[R | ARPEFIA 418 (rough) 1% Te-2[q
) (P LR P FACS AR 1 | AW AT G2 PTel (rough) F6 TEF-7ca I, O G2 TEA-7C@] TeRA Fl
2T

TR AT T RIS @I Tq OMR TEF-7[@ (efl T0A | $91 T A WF I & WS (@i Ted-Aa e I
A

27ICEd A @3 OMR Ted-71q (reql 2¢d | /[l ¢z [fif8 OMR Teq-7[ca @1 754, 2P°ICad =154, 2PI°ICad (IS,
SR (PIT, TOIW R S 51 /FICEN TA-A@D (7 7= 7o FCS 2 |

AR T 2% B @R 2hg7icd 1501 2h 2R |

sAwA Poe zem Tve e 2eta e Tl OMR Sea-7itad e #ies o1l =3 | Swizaesael, 2IRwdE “nem
2eieed (FC ‘A’ A OMR Ted-+itad e 71t ‘A’ forte =@« ffwe g8 ‘A’% F1en Face =@ | emeiea &Fim
TEPTS (ATE AT sewdle EEl MRweE weEe @3 erieial awer Fare qeTeE |

*porcq 1, 11, 111, IV @R V-3 s ©est (Part) (% 1500 92931 =evd 2 W% 3R 2o 20d S0 1 19 ¢ il
SR |

Part-I : ¥Ry Taee @3z fépser-oet (Q. Nos. 1-30)
Part-II : offe® (Q. Nos. 31-60)
Part-III : “IRE SR (Q. Nos. 61-90)
Part-1V : SRI-1I [ @16 (Tee) | (Q. Nos. 91-120)
Part-V : ©&I-1 (&) (Q. Nos. 121-150)

[@-@ @6 (QAfveF) SRI—SPIE, qIRE, A0, 7%, T4, FI G9R THREDS 3RE6 |

T TEEE T (FI AN wwE AR Al

SRR O R W ANCS wd (@ eeicds Part-I, Part-Il @< Part-IlI-99 @eecE JeiEe =9 |
(I — SIS /0T /251G | €2 (S0 T A1 FREAC (P AECE PSSl (I SR 2e SAE A
PO WF A N0 FACE |

A @ AR Sbecas S SRER I Pl R 5 A |

LPT-2023/P-1/11-C 3 [ P.T.O.



IERIE]

% 9:00 et Rrnt smAwE WA femsEt seast)
R TNTHRTE 79 TraR@l g RrT Tat SiforRst I@rs wEEt @nn |

<+

+ +

R R I IR R R AR

<+

FEHAAE (Admit Card) Tmeen TEel foAmEEmE THsTeE SREAT EH™ SHE Te1 3T 3HsTe. dremfen g iR
oo gemeTs RS Tma)

SR WS I FHTE Jae SHREEE! 3Tse S @UETE geql Ual AHSTE @1 TR SR ST ST |

Taa oA foeme, smfasmn Temf o, geEd ®'9, hagoel, TRRaSE e mifsrart S uan ASeE ga
SAFSE WIS AR BHE SR T3] St e gemiFeE 3 Soliqe 3THSTE @eRETE ofiql gFmE ST |

oA ARTETE AR TEET-TE TEE ardt SHSTE @i SEsiEe MaH S et e |

gie Fren foAmaEn M T AR e msEE e T et e, S SRE gea e S|

o TEET-TEt ® TR (Roll No.) @@ faarsf & smmmeme temd famr amme )

HHEHE T e SEfasmen 998 S@1 (A) TE (B) TS (C) TET (D) @ TG SeiEs g My @re |

frm foemeare fommemen Se A@mis <m e 9FEE TS

foMmEET OMR T foams@ 5 @i, om Tan e @TemEl g ST

forrrarn e foemget St g @M, wr-an foeE, M {6 disem st TR ST 9 S|

formraTery rEfsfifen 2nm genfomm /s foemeae gen o wremEr e, fifseme seen @ s gemEme /e @ e
T R A weE "9EE faar s OMR feam foemee Fafsfife s 2nme g aren fommamen genfimm /sl
foremzama Afy waft arem gt gurs T e e feae faemz s e S e Seie )

SSIe @omdl A o femmemmn qafent sreme OMR e foerest aima g foeedist s g e JimE |

fommeramn mfem e TEwi AT P rough BERE AiFRE fecTgEEE Wi gRE | fSAEEEn rough geRE AT
focteama e g TEEE @S SEEA TE AeT| R faemsEe gt 3 rough wETE @ steen R feemset
AR QA STEE TS|

TS A OrEE A T OMR R o g Snte | TR Steen Tee o S st R
foretz B wEE T=)

g foessi armE T8 OMR T foes g S| fommemen 9 11 OMR fham @mga@ g1 gFa—sit @ IR TR
(Roll No.), @i faems Twr ol | faamsf %', 1at %' amf aafed aeum fiar tan e sed-s ol T |
FASE w01 2% R 3 @eE foamsae 99 150 ity 9niE |

T et SR wis R aEe faemef ®'sEt OMR feam faemsf & srermeme oy =i fefefear snfed
TemmerEEn A T el w'er ‘A’ @t R et fo S wmme et w'er A7 o e e
for SEaEt MEW ETEEA e

g™ fe@mn 1, 10, 100, IV 3V A9 SRrEE (Part) T8 ®F 150 8 d@F™ (Multiple-choice) 9T 3T A
GAMEEET e A g 1 TR g

Part-I : 7’| SIATAM TR BRI 2Tes (Q. Nos. 1-30)
Part-II : @@ (Q. Nos. 31-60)
Part-III : 3{TIEran B (Q. Nos. 61-90)
Part-IV : T@-1I [ 0N (TTREM) | (Q. Nos. 91-120)
Part-V : T@-1 (STERESRN HHE) (Q. Nos. 121-150)

(T Sttt 7 Ta—eredf, s, s, &, ar, #eff Rl sticerifen suiN-@t foramia)
TR TR aIrE™ S g Jr) =)

seTe 71 fifen giuenfy amem e enfearen @ f§ g faemsf Part-1, Part-I1 3T Part-II1 STEFI @A™ BRI
el Taf SEH, SRS /a5 /N S S wee S T SErEErE Sol-os TE gisEEe M S 0t
BEATEARE! A BT ST AR A |

T AT TEE et o e sEaE fae do 5 @ 9m)

LPT-2023/P-1/11-C 4



INDEX

Part Subject / Component

I Child Development and Pedagogy

II Mathematics

II1 Environmental Studies

IV Language—II [ English (Compulsory) |
\"/ Language—I (Optional)

(Candidate should answer from
any one of the following languages)

Assamese
Bengali
Bodo
Hindi
Hmar
Karbi

Alternative English

LPT-2023/P-1/11-C 5

Q. Nos.
1-30
31-60
61-90
91-120
(121-150)

121-150
121-150
121-150
121-150
121-150
121-150
121-150

Page Nos.
6-23
2441
42-60
61-66
(67-102)

67-71
72-76
77-81
82-86
87-91
92-96
97-102



PART—I : Child Development and Pedagogy

1. Mo 3 facme afe BoeE oo 59 =, e (@< [ o (2=
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1. frecs @3 fae afe 2o a1 F41 =9, @4 (1 foafs 2

(A) FrFs, gg-Tal @32 [Rwer (B) Pres, wig-wial @3 ke

(C) rFs, Tia-2al @R 17 (D) P, BIg-Tal IR SR AT
1. HICATEE! ATH-HESN AT B AT Il SIa o 919 BEhT STe™

(A) TRITITTR, IR TR STl (B) I, I AR TR

(C) IR, HIRET TR WA (D) WHRIFTR, HEET AR AT o

1. Education is regarded as a tripolar process where the three poles are
(A) teachers, students and the school
(B) teachers, students and the environment
(C) teachers, students and the curriculum
(D) teachers, students and the study materials

2. s afEFrs I92RE A @F2- 1T e o [Awme s/ 99 F1 (302 | THREICS @2
RS
(A) Pres Reere SpIfl, SIbSe ST o CFae 2AcEel 91 21
(B) TIG-TaPTRRe J28 (SN5® 2fFCaT 2cel 41 2
(C) ~Fell “RfTre (Ffeaie zicael F<1 7=
(D) RI-GTS Sl 2wl FE CFq© J2 F1 2
2. ool HURE (@1 W) “afols sl 2wt IR2CEa &) Do R (e 97 F1 3R |
AGRTS &3 “oid
(A) IR TR, GRS 0T Tflv A PRYerd ©7R 2ol 1 27 |
(B) PRSI T4+ T WA ACF O AT T 27 |
(C) e “RficT F4=18 2cael F41 27 11 |
(D) RI-ST® S 2V IS 2 |
2. ME-Yg AdEEdEE (FE WIe) AT AanheEM SEmwe g see- J@EeE SmEi |
TUHE & SATEsRE!
(A) HAHTE TS W, FARGART SHT T T AR dTE ST S
(B) HUFETHT TS BTTect] SERHAT STl
(C) FHETTATE BT THTS HIsATdTE STaTa
(D) sEfSEmE e Emmiise s
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2. The case-study method has been borrowed from medical science for use in
imparting education. Generally this method is

(A) applied on child having learning difficulties, behavioural problems, etc.
(B) applied when students are in large group
(C) never applied at schooling stage

(D) used in imparting knowledge involving numbers

3. 1€ W@ ColleTe = Gl AR (oMt TP KBl ol Awg *[qa (P! SRa 51 2

A) Zefre (B) 2eFIE
(C) W% (D) =
3. IFRCICE (I T @2 qib SRked Ree—a™ Gl o (@7 CiRare @RFRE) @32 oF
CTRErE carrety (725 e @RFEE) 2
() Zwre (B) I
(C) == (D) 3=
3. gg @ o9 FAME—amiy & fom ggreE R e fam Ao greE—aed WA STer
37
(A) Fgd (B) wwwt
(C) Hem (D) firen

3. Which organ in the human body is of two parts—left cerebral hemisphere and right
cerebral hemisphere?

(A) Heart (B) Lungs
(C) Brain (D) Kidneys

4, YA AEGITSl, ST 2AEel, THOF ARG, o[ ARG i (Nl
ol AEePHEe Sfefeeicd & A s« I/, O’ (2

(A) TFE AT (B) afewd a@mamsl
(C) IR L&l (D) =R zcarerel
4. AT A, TFSICIR S, SRR 2, (ol 2@ 28 (o (i wifaw,
qCF I =W
A) fFRMEeR ATl (B) IfEced A@eel
(C) TG AR (D) =R ARSI
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4, 3R, AfFasH, fog AR sneafy meifder 1fe et meifyr s EIRSE
(A) Tt e (B) GIERT I
(C) HAH-THM T (D) TR AT M7

4. The need for food, need for oxygen, need for temperature, need for sex are basic
biological needs, which are also termed as

(A) safety needs (B) personality needs

(C) esteem needs (D) physiological needs

5. ““Ifi IEI AAEE (5 1 F GG 4F AR 5191 F97 a7 ... T o I3 ©Fen, F2
b, ToM, (Afeel o JfaTere 341G 1”7 @ Tfech FufiRe @l wiEes o[l el

(2= ?
(A) ToR FoeE (1854) (B) wpce =@t (1835)
(C) ZIBR SR AR (1882) (D) FI6R Az (1813)

5. ‘IO INCR GF G0 A A0 Gl IAPTY (BB FACe 204 TEL.. S IR T8 TR
g wfoce, Tomce, CIferer g3k Jface 20w 1”7 Tafelb farm @i v 1 7wt (e e

2R ?
(A) TcwR e (1854) (B) e Ra=at (1835)
(C) 2roR Ffp 2fecama (1882) (D) % iz (5159 =013) (1813)

5. 'S sfraTeE WY ATEl 31 ASHAT el O TR A WRAT AT A, 6, ATgeTs
I gfgera et —3 gt s s ws amm smeEi?
(A) g'@ feei= (1854) (B) Hepreiy fifie (1835)
(C) X wHHTHM fare (1882) (D) T 9T THe (1813)

5. The quote, “We must at present do our best to form a class who... Indians in blood
and colour, but English in tastes, in opinion, in morals and in intellects.” has been
taken from which of the following documents?

(A) Wood’s Despatch (1854) (B) Macaulay’s Minute (1835)
(C) Hunter Commission Report (1882) (D) The Charter Act (1813)

6. FERIOMRT PG (Nfer e Mg [eaE 2
(A) CNfors Prsz Trees FrFR T B5Ica A 2w 6 |
(B) (Mferss MERR e S NG AMero 77/ T2 3 |
(C) (e Frmiz A Giaw ~RRRST (1Ce 417l 4R *[AIGS “RER 3 IR =1f9R |

(D) CTfers PR (a1 PRy TP TBRAROrTes RGX 418 723, e FEsie f2eras
Sife T |
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6. THa @ (Nfers Prw Tfeq #ifg712h 2
(A) CTfere MEpl FrsE % 2T gSEIes A2 Fe = |
(B) Cfere Mewl Rmer 3R ANCSE [ G0 7o (o FCF |
(C) (e FrwIcs IR SR ~IRTRea S ANG T FAF &0 G5 AR 2MIe F900 27 |

(D) (e sl we@i@ @b Freq Twbe FERAIStR [REx e 91 R FrFes ([odiue
(9T T |

6. TR Fe e AT @i s’
(A) T e o T E @i S e SEE gren
(B) TfE HiGiamgst AT ST 9= TSwE T 9rear e
(C) Rl 913 UrTistl TR ST=gran AT g

(D) T AIATE ™ T A MEISN IHE MR SIRFEST armd qiHer diarersH e
WA LTSS 2T

6. Which of the following is against the principles of basic education?

(A) Basic education does not recommend mother tongue as the medium of
instruction

(B) Basic education brings forth an association between the school and society

(C) Basic education has to provide an environment for adjustment with real life
situations

(D) Basic education would not only develop mental potentialities of a child, but
also make education craft centred

~

7. AR (PR (e FrFE 9 BoR 7= 2
(A) (Tfere FrwiR ey Sz QiRAce S SRIER S7e BFY i T |
(B) (o1 PrFz Gige W GiFq IABETOR WSS G qlely) AL FI7e F¢F |
(C) (fer Frwiz IR RFME SIS F P Giace Maeq 7[/e @Fg ST FC |
(D) (Tifere M o Cacr MRl fergq =jofier fam A |

7. ey Tefie @M (e FErR sdied 77 2
(A) CTifere PEsl AR SRR W @I eI S5Fg (7F |
(B) (Tfere sl Slaw G2 SKCTH TABTOR W G G @N9PTE FIoR ¢ |
(C) Cfere Mgt S5e Taaees #If{cs FehE e Tok (wd o |
(D) CMifere MEpr o PRERRICE fece MR Kpr <o |
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7. TR Fe TS TS TS SERR TET7?
(A) T ArcteTgs At SemeHESt TR e e My g
(B) 7% Hictiemge 3 AR At 53 oy forre widiear @rern
(C) ERAIE Simemee Jafimm, e defiorzen ity Tere G Tem gen
(D) Tf Hretieeft srifian ST AR SR gEarrE g S
7. Which of the following is not a merit of basic education?
(A) Basic education lays importance on acquiring knowledge through active
participation
(B) Basic education establishes a close link between life and the realities of life

(C) Basic education emphasizes learning through craft work, at the cost of all-
round development

(D) Basic education aims at the development of the learner’s personality in its
totality

8. fFCT FIeTe PrRYTFF (FIe “RAFT T 2wy 41 =7 2

(A) e e (B) T Wi Hrw
(C) =i Rmrery ol (D) WofiT e
8. JWIHSICH PR MrFiF (I I 2w 1 27 2
(A) e B (B) Twwrefiss P
(C) e fworm et (D) wfR sl
8. TEHI THTE T GBI W] AW HICATTg EHE S ?
(A) T et (B) S diciiems
(C) T HEHT HIAATE (D) TSR AU
8. Which stage of education is provided to children in their adolescent period?
(A) Primary education (B) Higher secondary education
(C) Pre-school edcuation (D) Secondary education

9. FRROMIET (A MR FrEpra o 7= 2
(A) olTOlfEF TP ([T SFEfS
(B) fom-fon sfowaqe (Tog W 2/ Pl
(C) PRI IR FFerel F=mee [fice 398 o @M
(D) JMaTers AN Seiel & wre TP A4
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9. ficy Tiiie @i M Mrwm o 71 2
(8) srerelfE MEfReces M99 TTYE
(B) fRfen cvca cTorga &
(C) 7H[SF FIEA T (NIRRT T 21 &I
(D) JeTeTs el R TFeR Tl

9. TR T TSR Fietionsf oiftg a7
(A) gIET-2=TR FgEyH aHeierE 9
(B) T A AFEETE SRR HEAEM 9TE™ diaieng
(C) HTa@ AR WHEIHE! ote oTel’ Bisteq! TS T
(D) SRR TR AR S BRIATTEE! GERAR

9. Which of the following is not an aim of secondary education?
(A) Incorporation of the concept of democratic citizenship
(B) Education for leadership in various fields
(C) Knowledge of English for speedier dealing with official work

(D) Improvement of vocational capability and efficiency

10. ‘PEwa e’ (coreer’ &) ==#ioicd [ =i 929 $¢d, OF Ca0R

(A) PreF sz 391 (B) Mres & corm

(C) Py fifiFs a1 (D) Pres Tog fr
10. ‘PP e’ *icwa w1 a1

(A) Frecs sfvc w (B) Frecs @i

(C) Precs Mifwe =1 (D) PretE (Tow el
10. ‘®Ri-fafEm dEE it =17

(A) TG fen B (B) Torwl g

(C) '@ TRET TR WIATHAT (D) TG ST
10. The word ‘pedagogy’ means

(A) to guide the child (B) to understand the child

(C) to educate the child (D) to lead the child
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11. f@r-sran fafrie Tfemee @ orem 2
(A) R tare FiFeEy AREoaR ForEfe
(B) =l Care @ ferqafoze aifam
(C) RerR =fFrs qfesre ALFPR wive (2 AT
(D) e opefiegeam afee

11. focy Sfafie Tmme Tfesfrm @@ib oreg 2
(A) THE @F PO TR
(B) Tmw @35 qr@mifes afe
(C) T Ffesre “NAFBRE A Give
(D) T SR[EICIT

11. TEEA o= SAYTE @i diHe T@ e ?
(A) STHTITESAT RIS S fherg
(B) SimemgsT formfymm=T Aremy
(C) SHYTESTTE TeRTH BRIE T Tell
(D) StmeTsE! feriar @iFer gr=n

11. Which of the following principles of development is not correct?
(A) Development is the result of coincidences
(B) Development is a continuous process
(C) Development involves individual differences

(D) Development is predictable

12. @ Free FROPPNR 9o Fe 91 2 0o FFRic
(A) 2R SFORE TN AT T 229 FRF [T
(B) Cfes ¢ nrffeie Semcar@ (e Sive AIREPTIE Seqd I 21T
(C) FPUIE I O Prag 2I2eq wFel S12ge FEd “[1cq
(D) f AeTel 2w SRS MR Cce SR-RfFER 99 #1d

12, R FEw RGN e T9 27 @ REmE
(A) ZTSIeSid AfSP® T el FaCo “IIid
(B) Cfes @3z wfie Jencary seifee qeenesfel s F9ce e
(C) T AN 8 Pral8 (TSR 7ol IS T~
(D) STEIeTSl 2w FCH SRR A @IS T A1
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12.

12.

faftem arctens eemEie sTRemfe Tet gmm SrEt Srers de
(A) TREEEER TR | -HicT WTAHIARA! ASEAT aw@

(B) STGATR AR gFeh fafiem o seaf aHeiford dieret

(C) SHT TawrRATT AR forqen o sErfat derst

(D) TRl feffomm TawRe FREEREE dest

Science education programmes are designed to enable the learner
(A) to accept established knowledge without questioning

(B) to acquire concept related to moral and philosophical values
(C) to acquire problem-solving and decision-making skills

(D) to interact with others by displaying creativity

13.

13.

13.

13.

o= (FRICE! SR PrRr @ IR 7 7= 2

(A) TS SR S FIT (FICAl “IR[N7 TP

(B) 2 e 2a s @3 AWM IR fooe ANR o7
(C) 2 I Rwler ag[ AfeTe SPe =7

(D) 2 oS TR AF T R

i TfafiRe @i SFeifass PEpe gy o 2

(A) @foa T @R FIew @ ARAS @@

(B) «fb I8 MrFIcs @3 Focere “RfNRes T e =i
(C) «ft it Rwler “rafer JiecE abe =

(D) 9fb wrorg T 93 e

TR Fe T @if-Ieran 18 Jiaiens Smgam as1?

(A) fogr a9’ o1 Sty o e

(B) TS AT HIAY @1 AREHE R TeiE S
(C) Torm wfeSeran wremfer steafy areiema S
(D) forn Siea wigssaTE A S8 T TST

Which of the following is not a feature of non-formal education?
(A) It has no parameters of Time and Space

(B) It comprehends all learning within a set frame of parameters
(C) It takes place outside of formal education system

(D) It is highly flexible and inexpensive

LPT-2023/P-1/11-C 13
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14.

14.

14.

14.

FRfTeT2Y fooTe (FRCE Freq Sefes [FmE cFae A= 2
(A) T (fPro-re) Afc

(B) lTolfEs cAcrIoN e

(C) e AR AT

(D) frfge @RFOR “I[™

fferresfem T @b Freom TP RPIeE w0 T TR 2
(A) TR (Fremrem crean) ARk

(B) olTslfgR CIapema 2/

(C) FEeam caMecsa oI

(D) Frfge ciawesa “fhca

TERTE EHT e T2 |GR AT S 9rg arefe=?
(A) TR ATETETET

(B) G@ETEATR omal-@e STeerat

(C) TIEI ATET-TT AT

(D) TTHCTIAR AT - HTEETET

Amongst the following, which one is best suited for the emotional development of
children?

(A) Home (parental) environment
(B) Democratic classroom environment
(C) Authoritarian classroom environment

(D) Controlled classroom environment

15.

15.

15.

Y, AT O BT 2T -TFR S o9 (IO PP orsf 2

(A) N e (B) Il el

(C) ercary el (D) SR PRF

R, & 9. Wb 779l S e (i Frwe 99l w5 2

(A) R Pl (B) IRz

(C) orcary el (D) SePRE EH

TR, T AW T E T AT 1 s

(A) FaATSATR Arctiemg (B) SAT<IETET Tleiiag
(C) = Hictieg (D) ge RS Hieitons
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15.

Study of air, water and soil pollutions is a part of which education?
(A) Physical education (B) Environmental education

(C) Value education (D) Population education

16.

16.

16.

16.

Rrrc (967 Ta-g@rRes o fo v SR wive FRee 2 wa-man e afdre

(A) TSI (B) TeUCAIE Frel
(C) TP (D) feoresqel

T G FrEe O maer [fen bl FrREE wite Fee wie @b FEedfion e AR
O @R TR ¢

(A) STfePIFaCe (B) encai e
(C) NPT (D) IS

Sl W BTN MEH ARG g7 g7 SHsl @HTHeTE TRl e o=l wEEm!
I @1 2l AR 37Eell THITE 2|

(A) TUTSITR GTATHARIE (B) I8 GIATTZTE

(C) TTeAEHETE (D) AT

When a teacher involves his students in various group activities, it facilitates the
student’s learning and also helps in

(A) socialization (B) value education

(C) aggression (D) individualization

17.

17.

2SR TeS *RRF PRGN O *S[E FE=H

(A) SRHISAcel Reafbe C2fed, e Te Totifes <1 @[l fes
(B) FWIRSIE feRIFe 0 FRAMFS ifest

(C) 2TI-ZIAPTFEF 2Vl F1 GG RrFE 2P SN

(D) ST @ Sl Rareel ooy 91 C2fes

2l ©RICe [ PR @R == Frw et
(A) TSR B2riE [, o3 Tonfes w41 7o
(B) TR &) FCIRSIE AR

(C) TG 2wl 1 P GIa Tl

(D) G SR =i f2erd Ricabe
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17. TR ARaE, SR Wi S g et
(A) TIHT TN TR ST e asme
(B) IS AHIU®RAT & for Frome
(C) BRI B o A=A FeiiemgaH
(D) fo=fd oF& Arfiem STern aHE SR

17. In ancient India, physical activities and physical education was
(A) considered as redundant and hence not encouraged
(B) strictly reserved for soldiers
(C) the only type of education imparted to pupils

(D) regarded as an essential part of life

18. e 2AfFS (6 19 @F o (FIEFe 4% GJ'F) &S I F9 @, AR/BF (6 [ FECEr
(A) ToI AR20T I F AR TR R[] ST 27
(B) TF(0F 371 T F ARG TRE ~AR0 F 23
(C) FHa 747 ST I ARG’ TR 2 =T 27
(D) T TR ST F ARGAR TR~ T 27

18. Tl 2l ol € 2ChBR “Iafe 2 P TR
(A) 21T 2CHBR @iod AR I 207 GIR I (@A A9
(B) 220G ACHBR Fiod TR Y 3(F IR TS FN A1
(C) =T 2CHBR FIoA TRAMN @ 2T 3R THNES @A A1
(D) 22T 2ACHBR FoF MR @ 3¢ GIR TR F A1

18. TIAFMETE TS 3T TRIFY 3TEeE! sTerisa
(A) Tamfa STrse aFmmE MOfS IR SHEE TT 3T 89 SifeE e
(B) Tormfa rste e M I ST AT TR THIE WY A
(C) Tamifa 3TsTe =™ e RIS SITE ST GHTe S AT
(D) Tormfa AFSe AR T TRIFY ST 3R SHTe @9 T

18. While using Trial and Error Method of Learning, during initial trials, there will be
(A) less number of errors and time taken will be more
(B) less number of errors and time taken will be less
(C) large number of errors and time taken will be more

(D) large number of errors and time taken will be less

LPT-2023/P-1/11-C 16



19. JEFTO IRE NPT M

(A) 2xca o 2fSch QIR NGRS Y-SR S R RIS XS
e =18

(B) 2=y Wi 2fSch RO WGNEPHRE X-Srwe Wi R @l GRS Y-
e =1¢

(C) dcy iy fSchl AROR JYAPHRE Y-9FF© O T A IS X-9F9
e =1¢

(D) @cy fy 2fSchl @l TYEE NGRS X-SEFe WiE R (NETOPES Y-SR
e w1

19. RIS LS TS
(A) =C INeE Y-S 2fefh offie I asme g X-Sew RS IRl e
2
(B) 22CY SIMICHA X-S1CF St IRAFOR Teafel ¢k Y-S0 M8 oy I fce 2@
(C) 22T SNICHE Y-S1¢5F 2Ifofb qaameod Jammesfel @3 X-Si0% 7RAEE ey Id fice 2@
(D) 22T SNCE X-S0F At T QU™ M @R Y-9I0F W2 IRa[el e
e

19. TNTAYT ITRETf-E ATRGARTE
(A) Tom ARITel @l EiREE TSR SHAEl Y-Ufrdd dnme IR T SRS TerTaemEt
X-ufeqdre
(B) Tifsrma S Wiwmel TToiTelen (SRaman) ™ e J8aE X-31e1 (Ufead) e 3Rl SASre
AT o™ S Y-218 femera @t
(C) Tifsrma S AFEHE TeRIdT TR S8FE! Y-31813Td TR ARSI ATEl ™ SRarat
X-31% famema @t

(D) Tifsema &1 AFwHal IR OEAE TSR SEEEl X-AFTd TR TS TRl
(SEman) @ Y-21ef fama @t

19. To draw the frequency polygon

(A) first we take mid-values of each class interval on Y-axis and corresponding
frequencies on X-axis

(B) first we take mid-values of each frequency on X-axis and corresponding class
intervals on Y-axis

(C) first we take mid-values of each frequency on Y-axis and corresponding class
intervals on X-axis

(D) first we take mid-values of each class interval on X-axis and corresponding
frequencies on Y-axis
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20. W& [IRec! foare 4 |
(A) PR @F SIEIE AR |
(B) P=wl e SEIN @ 2lfel |
(C) Tl I@ ST 2T 9T Al |
(D) Pl IR 7R Pee o 79 @ Zfe |

20. W& [l e 59 |
(A) PR @B SIS 2T |
(B) PeFl Mo O S 2AfG Al |
(C) PRl 31 ~RIER @Fl> 2ifem|
(D) PeFl @To afeman 1 TRIRver FEeR [ o) 23|

20. TREH R fagfmt |
(A) @retiemzeT fS3-A1 wreeq |
(B) HiciigaT Gieam a8 & HAa-H |
(C) WA ATGHA o HTe=T |
(D) FIATATZT FHURETTHTTE BUEE ST e |

20. Identify the correct statement.
(A) Education is a lifelong process.
(B) Education is a childhood process.
(C) Education is a process for youth stage.

(D) Education is a process that ends after college.

21. ERIRSTRT (P TG ARG SPIE RIG-RIAN e el SR 6 1359 2

(A) TF-q= (B) S5a-LIaRIl
(C) SI=F! (D) s
21. fcy Tfafera S F9 TN A ARcafEce Rredior afecgs s w9 o681
FE?
() T (B) zifecaia
(C) SRR (D) fArssa

LPT-2023/P-1/11-C 18



21.

21.

TEETE B TR |81 QU TS TRIs ST 1 T | GEarra! e ?
(A) TITIBR (B) EMETTY-BrRETI AHAER
(C) gfe (D) BRIFTRGR

Who amongst the following tries to modify the personality of students in the light of
the need of society?

riends eighbours
A) Friend B) Neighb

olice eachers
C) Poli D) Teach

22.

22.

22.

22.

PR JFGore oFFR 8Fg TP RIS (P! FT 7o) 727 2

(A) T 2F ARSI FRET T (O |

(B) Tw JfaTerta Freq G2OIER (202 GG S |

(C) 2 =@ EifRT jf © MR 27 |

(D) 2 SN-GF TP TR O ANGF G G e A2 |

R Jrawers ArwR @Y T~ FRFReSeE T @mb 7oy 1 2
A) @t  FEIE TAASFOIE F_eTa FC (O |

(B) «ft T Iaweprom Frywa aFa =i |

(C) «fb Ml o1ca FT=Rrel 3¢ |

(D) TS AL 71 P S-S T AN & afo weifwer |

At Mg oiiad! THH MerETE S 96 ST de TE17

(A) Tt |8 gt TEnf-oEi mergrEEt g

(B) TSI Sffe AT T HIGRM @™ o Hide &

(C) TS BRET GRS 2T 2t

(D) HHTSITR-T@TSATN SHTBRE! HA1 TR THTSTR BERhRE! Geeq! I o= mHem

Which of the following is not true in regards of the importance of vocational aim of
education?

(A) It makes one economically self-sufficient.
(B) It is the only hope of children with higher intelligence.
(C) It helps in the creation of good citizen.

(D) It is essential for solving socio-economic problems and bridging the gap in
society.
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23. 2q S @O AR PR AR/ e (el e 2
(A) TR P (B) I& e
(©) g =zl (D) @z
23. WA SR (P AP SPIEeTs Rf T@ =7 2
(A) CFOT ~Rfr (B) 3| “”m
(C) TP 7R (D) < “Rf
23. AFRMH SR o« g dig 99 @ gl g8 9817
(A) <TEHN EH (B) S wm @
(C) Ffem ww'w (D) SRTE-F 9@l
23. Which stage of man is termed as the ‘questioning stage’
(A) Adolescent stage (B) Youth stage
(C) Infancy stage (D) Old age stage
24, Moy ToRRe (e @FE [RIM o2 (e @[ s e @Mk Rea e[ e
IBSRRIC R
(A) Fras fmer (B) Freq forers w9
(C) & (1 PR (D) ToPWR Jreredl Te
24. 93 PR (e wqefon Rem R (e wiqefen oo o T @ “fEer Tm
o weq 2
(A) Traom Rmer (B) Prewra fFees =
(C) i 283 DRFTRT (D) TG TP B
24. TEMETE T 59 STEETET- e e 1o A g gl o aeity SmisHeE b
(A) T\ EEETerET (B) ¥\ a7’
(C) SHM HER SETHETHHT R (D) Gg-GIHIT ST
24. Which of the following environments does the development of moral sense and

formation of moral sentiment in a child mind depend on?
(A) Child’s school (B) Child’s own home
(C) Hospital of birth (D) Public place of worship
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25.

25.

25.

25.

TR leTq G TCECIen (A T C2R (&

(A) (OETP BfSNTOIE (Y= “Ifes el f2oleq C4feratel o«
(B) (SSTE 7o 21 (AR 7IRECe faroeicd (dfemie @ |
(C) (TEECE MARACS SHPTR FRFAPIR 2 FCE

(D) (ST [7[e foielq 30w (e ita 26w eq

TR @35 SEcan (AfHEr =

(A) ORI TGS IS WHANSSIF (TS %W FCA
(B) ORI wea[Ced “IfF_CS TS OOIE (JFCO 7V (A
(C) ORI RIS (FroFe)f TR Gfecy veat

(D) SR R#{re 10 S (4F10e 712 ¢

gicar g0 (4 A" GEHIEE STgATET Sed

(A) O 'S et WIS H; gREE g

(B) ol aRfE= Mieit WS o & e gagan

(C) TR TE-ETd Mo = AT

(D) BETETHT fErTaEThRS TR ETTeTdT SemarbRSt TelAr TSt 7

A remarkable characteristic of childhood is that

(A) they like to play in group instead of individual
(B) they like to play individually instead of in group
(C) they generally avoid playful activities

(D) they like to play with the opposite sex

26.

26.

26.

“TRCI (20RO TP 517 Ol 5, R 92 RAm @ R 177 31 e 1 WeEeE (202

(A) Teasie e (B) f&. ¢ «fe1 ==

(C) «. 5. coafies (D) & IS

‘T eERIE 25 S AP 5171, A R -Gl T 177 TS Pl 2

(A) ProrTe Fre (B) T&. Briafer 2=

() «. fo. srafEs (D) e formC:

“Adolescence is a period of great stress and strain, storm and strife”@ |R
FSHMA?

A) fame B (B) f5o w7t &<

(C) To feo SRfYee (D) 5 foRme
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26.

“Adolescence is a period of great stress and strain, storm and strife.” was said by
(A) Sigmund Freud (B) G. Stanley Hall
(C) A. T. Jersild (D) Jean Piaget

27.

27.

27.

27.

e 498 qEibre (Sfes Fmame Siferere Wl (e am @ S SFEIER TEee
4 22

(A) R@m “[[rFea (B) R Sa= € (@79

(C) Tirss =i FHi! (D) 2=I9ME

I TRl (@I oM @3 RmRIER (oo T=rmalr Sgee 77 2

(A) Rem [ (B) R S €33 CXETH WO

(C) TArFal @R S (D) 2=IalE

TR EMR Sl BT TH ol SFe Ser 81!

INBREREEREIEE I (B) WA 77 3TRI Tl HBIAR

(C) BRIFGR AR GRS wrawiieEn (D) T =i

Physical resources of a school plant includes all, except which of the following?
(A) Science laboratory (B) School building and playground
(C) Teachers and staff (D) Library

28.

28.

28.

28.

e qe forsfiem e @ Ico! =NfE SR TAEET 2

(A) E oo (B) T coorf

(C) U ¢o5rf (D) H (o5

G Rwser S fefsficom &y (e T (GH) A0S T e 2
(A) E N (B) T I

(C) U =31 (D) H 71

ol WU I BT 7 FAE S ggal SARISTE ?

(A) E A& (B) T W&

(C) U W& (D) H &

Which pattern is most suitable for construction of a school building?
(A) E pattern (B) T pattern
(C) U pattern (D) H pattern
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29.

29.

29.

29.

erffea cresifn Pl v eifers Fafie @w gerree wive = 2

(A) FfEofEbe (B) CBferemeicatic

(C) &3 AT Tl (D) CSICICaBa (55
ToCHs (MG 2R e Pl emics et ST Qive o 2

(A) FF#THR (B) COlerereica™ie

(C) =C&3q G 7/l (D) (SIIC0A @6
MRS ™ Seigl fSRieias Sieieg BHe=ETE st clest 141?

(A) FEIA (B) SH-SIgHE

(C) W'SHFeX AT ThiA (D) SR T

Which of the following is not directly involved in imparting education through
technology?

(A) Computer (B) Teleconferencing
(C) Projector and screen (D) Generator set

30.

30.

30.

30.

RIS fes e SenfieeR fPremace [Ras F91 292
(A) &= @RS 71 T few (B) GFUliF TRT @ @FIE
(C) (EIEe Felis T (D) &-(5F F%

FICF PREFISIS NCAIRRICTE Sl ACaT 9o 31 2T 2

(A) (SR @HRSF CRBICES (B) TR TRHT «. FEEE

(C) (T« EFTHTF 26 (D) il S TN

! "IATTE TR foer g

(A) SEM BN UedTetica! (B) Hifes sfectso To wiaw

(C) SIEM Hifgsh ersid (D) Sf9-Siie &@

Who is regarded as the father of educational psychology?

(A) Johann Heinrich Pestalozzi (B) Friedrich W. A. Froebel
(C) Johann Friedrich Herbart (D) Jean-Jdacques Rousseau
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PART-II : Mathematics
31. 0-23 MRAICHA BIRXS PRI (202
23 23 23 23
A) — B) — €) — D) —
90 99 101 110
31. 0-23-97 IRFG P 2&
23 23 23 23
(A) %0 (B) 99 (C) 101 (D) 110
31. 0-23 {4 SEE@EmER
23 23 23 23
A) — B) — €) — D) —
90 99 101 110
31. The fractional form of 0-23 is
23 23 23 23
(A) 90 (B) 99 (©) 101 (D) 110
82. I CMERF FRYE o 7RI (2R
(A) 0 (B) 1
(C) 2 (D) 2 o3 HEF
32. (e 7R AR A, SR (D A&7 2
(A) O (B) 1
(C) 2 (D) 2-9F &N
32. Ul FAANHERE ToRE 0 A
(A) O (afera’) (B) WM 1
(C) gm 2 (D) 9 2 1 =ifeA
32. The total count of prime numbers which are even, is

(A) O
(C) 2

(B) 1
(D) more than 2

SPACE FOR ROUGH WORK
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33. 2056-34 FRAICHIS 5 T T+ (202
(A) 56 (B) 50 (C) 100 (D) 10
33. 205634 RANMBCS 5-9F T T+ 29
(A) 56 (B) 50 (C) 100 (D) 10
33. 205634 219 5 [ SEE gEe
(A) 56 (B) 50 (C) 100 (D) 10
33. The place value of 5 in the number 2056-34 is
(A) 56 (B) 50 (C) 100 (D) 10
2 _ 2
34. (325+229)“ - (325-229) e A
325x%x229
A 1 (B) 10 (C) 4 (D) 40
2 _ 2
34. (325+229)“ - (325-229) < T e 9 |
325x%x229
A) 1 (B) 10 C) 4 (D) 40
2 _ 2
34, (3825+229)% - (325-229) 4 el o
325x229
(A) 1 (B) 10 C) 4 (D) 40
2 _ 2
34. Find the value of (825+229) (325 - 229) .
325x%x229
Aa) 1 (B) 10 C) 4 (D) 40

SPACE FOR ROUGH WORK
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35.

35.

35.

35.

37 HEFEN HFA TG 1 SF BRCFALA HAISCS 56 n A YR TR GO X @9
o ¢ | AM SRICHE TP 7280 F =W, (S0 AN #A1F9 AT Sody F41 799 (2R

(A) X +2r (B) 2X +r (C) x? (D) 2X

@35 ARCHCET BIFE TP 261 r @R ARCHE BIFG n M @RCTR T 93 & X 779
Sfoa Fca | A SR AP A T W, O g9 AT IF (@RIER TG FO 7Y
@ 91 2¢q 2

(A) X +2r (B) 2X +r ) x? (D) 2X

T HEEd AR F@E r| 98 AAEE dEEed! SaEaEE @9 1 9ER Biiser X S
HeCPIIS ERIRInE i el cie ey Clkei i i co e ik toiRicic IR S EESIE P G EEIR T
UK

(A) X +2r (B) 2X +r ) x? (D) 2X

The radius of the wheel of a bicycle is r and after riding the bicycle for n number of
turns, a person covers a distance X. If the radius of the wheel is doubled, then the
distance covered for the same number of turns is

(A) X +2r (B) 2X +r (C) x? (D) 2X

36.

A TIREl @Il 9 TG 17 SIS WAt 9B @ 27 | A 1009 WMo T
2’7

(A) CTRIE (B) IR

(C) Ifer (D) W&

SPACE FOR ROUGH WORK
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36. SR T 2SN @I GFH TR 177 SRR 26 WEIF | O=ce T2 10099 Wi 2q
(A) CTR (B) 3=
(C) == (D) W&

36. AFY AERE (STEAT SRR SR FE1) 1 STaR! IHET @R | o SErH 91 100 ams
(A) TWER (B) Ismm
(C) |fHar (D) &R

36. In a given year which is not a leap year, the 1st January falls on Friday. Then the
100th day of the year falls on

(A) Monday (B) Sunday
(C) Saturday (D) Friday

37. @I ¢F &9 0°< 0 < 90°F A I sinb = cos O 2, (SCF 6 F [+ 23

(A) 30° (B) 45° (C) 60° (D) 90°

37. 93 &9 0°< 6 < 90°-F &1 M sinb = cos O T, ©CJ 6-9F T+ 2

(A) 30° (B) 45° (C) 60° (D) 90°

37. WY 0°< 6 < 90° @ TH! Jf¢ sin® = cos O, 3Tt 6 = 7

(A) 30° (B) 45° (C) 60° (D) 90°

37. For an angle 0°< 0 <90° if sin6 =cos0, then 6 equals

(A) 30° (B) 45° (C) 60° (D) 90°

SPACE FOR ROUGH WORK
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38. (I ¢F NI TS 20% (T2 2 F4I (202 | T9el Tere F *roiel e Ffacer ANADHE
o 6 L& [ 270 2
(A) 15% (B) 20% (C) 22% (D) 25%

38. (b AW o0 20% T (WS B | ST o) 7[Fald T &) Toe Lo F© =@ I
FACO 27 ?
(A) 15% (B) 20% (C) 22% (D) 25%

38. TH SEREM SEAE! 20% ®E TEE WM& MEH SHAE@ S8 SihErel aREden sgar {emt
A ST
(A) 15% B) 20% (C) 22% (D) 25%

38. The price of a given article is discounted by 20%. By what percentage must the new
price be increased in order to restore the original price?
(A) 15% (B) 20% (C) 22% (D) 25%

89. WA WA 147 T (AN U@ 6 e fef amiforq 2

39.

39.

39.

(A) LXCVII (B) CLXVII (C) LCXVII (D) CXLVII

A AN 147-CF G AR FEIE @141 21 2
(A) LXCVII (B) CLXVII (C) LCXVII (D) CXLVII

NS EYE 147 @ U9H GHEST] 7T T ?

(A) LXCVII (B) CLXVII (C) LCXVII (D) CXLVII

The Arabic numeral 147 would be written in Roman numeral as

(A) LXCVII (B) CLXVII (C) LCXVII (D) CXLVII

SPACE FOR ROUGH WORK
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40.

40.

T YOI TR A S B FIALG. S SR, (2% INGH L OF H | AW 3L = A IF
xH =B, (93 x-J Y723

) 3 B) 4 © 3 o) 5

5 A A @R B-9F FALG. GR S8 NG L 9R H | I 3L = A 4% xH = B &, O
x-49 T =CF

1 1
A) 3 B) 4 Cc) = D) —
(A) (B) ©) 3 (D) 4
40. A 3 B T LCM (3o o Tlo) 3R HCF (Jo 3o TTo )3 I L 3R H| It 3L = A 3R
xH =B, 3Tscll x = ¢
@) 3 B) 4 © = D) =
3 4
40. The LCM and HCF of two numbers A and B are L and H respectively. If 3L = A and
xH = B, then x equals
@) 3 B) 4 © = D) =
3 4
41. 1+3+5+ ... 1451 7M1 @oFe 2'9
(A) 169 (B) 196 (C) 619 (D) 691
41. 1+3+5+... 145 *m /3 @ 3@
(A) 169 (B) 196 (C) 619 (D) 691
41. 1+3+5+ ... 14 foemEfyfamen s@e?
(A) 169 (B) 196 (C) 619 (D) 691

SPACE FOR ROUGH WORK
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41.

1+3+5+ ... up to 14 terms is equal to

(A) 169 (B) 196 (C) 619 (D) 691

42,

42.

42.

42,

30 T TG WIF 20 FTh AFI (FAl G I QoW WACR (@ TR A o feres 1
@ R DIRCITT (el H | BeTRCBI Tl (22

(A) 12 75 (B) 15 %5
(C) 16 B (D) 18 B

30 Fb 79 R 20 Fb DU G0 TN (A R WEE CFAFCER ANE AL B
(ST CFAFCE I | BRI Tobol e

(A) 12 6 (B) 155

(C) 16 Fb (D) 18 ¥b

30 2 TR AW 20 Fe IRATZ THT WY WA BT AR STATAM eergia= arsrermern fofa
TR T 4 T TsamEtaf wmE | " stegen oW

(A) 127%< (B) 15 %2

(C) 16 %2 (D) 18 %2

A hall of 30 ft long and 20 ft wide is such that the sum of the floor and the ceiling
areas is equal to the area of the four walls of the hall. The height of the hall is

(A) 12 ft (B) 15 ft

(C) 16 ft (D) 18 ft

SPACE FOR ROUGH WORK
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43. 951 10 km rdre 23 o BIBRORE 7R (202

(A) 10° (B) 10* (C) 10° (D) 10°
43. 10 km WCR T¢I GBI A0 291

A) 103 (B) 10% (C) 10° (D) 10°
43. 10 km I3UTZAE s« Fo fio &7

(A) 10° (B) 10* (C) 10° (D) 10°
43. The number of centimeters contained in a length of 10 km is

A) 10° (B) 104 (C) 10° (D) 10°
44. M x2 - x -2 IF x2 - 4 AL, 2 T, (ST x I I+ (T

(A) 1 (B) 2 € 3 (D) 4
44. 3t x2 - x -2 @3 x? - 4 A 2H/F ALY, 2 =W, @ x-9F T 2

(A) 1 B) 2 c) 3 (D) 4
44. 3T x? - x -2 3 x2 - 4 71 HCF (o 310 wWo)em 2, x {7 7wmn s4?

(A) 1 (B) 2 c) 3 (D) 4
44. If the HCF of x2-x-2 and x2 -4 is 2, then the value of x is

(A) 1 (B) 2 ©) 3 (D) 4

SPACE FOR ROUGH WORK
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45.

45.

45.

@I 9F PR 40 SIS (@FCUHT 27 TR (SEEHFT qWe q2 Al I¢9, 25 I ol
F 17 SRS YRR g T3 | FRREees @eeby 7)1l (20

(A) 5 B) 6 Q) 7 (D) 8

G MR 40 & CTHT T 27 & O RN MR 2w P, 25 & Yo 72w Bl
R 17 & TR “Tew A | FRINECeI&! Hewcta A 2
(A) 5 (B) 6 © 7 (D) 8

T JEETE 81 40 hedBR TS |1 27 heddT A1 AN WS A4, |1 25 % a9 del 3
g1 17 %1 g | Ffi S shedwr ared?

(A) S (B) 6 € 7 (D) 8

45. In a camp, out of 40 cadets 27 prefer fish in their food, 25 prefer chicken and
17 prefer both. The number of cadets who are vegetarian, is
(A) S (B) 6 € 7 (D) 8

46. (T OF JMEE (D€ TR 229 ¥ 3 km/hr (@S IF {78 T 6 km/hr (@97
SIS T | (DT AT (9l T>
(A) 35 km/hr (B) 40 km/hr
(C) 45 km/hr (D) 5:0 km/hr

46. 43S e OF @R A [ 3 km/hr @l @R 777 =EF 6 km/hr @0 SfoGw

FEE | OIF TT (F97 29T
(A) 35 km/hr (B) 40 km/hr
(C) 45 km/hr (D) 50 km/hr

SPACE FOR ROUGH WORK
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46. @ wHfgE & @E@ @FAREE 3 km/hr 3 T 99 @ERGET 6 km/hr STE 891

fafs e wieEn
(A) 35 km/hr (B) 40 km/hr
(C) 45 km/hr (D) 50 km/hr

46. A person covers the first half of his journey with a speed of 3 km/hr and next half
with 6 km/hr. His average speed is

(A) 35 km/hr (B) 40 km/hr
(C) 45 km/hr (D) 5:0 km/hr

47. S| T (FROFIFIN T CFq© (71 9’31 (@ 10 S_IF] €12 1061 “f&res 10 frere A&
TRoRECR | (908 1 & @12 1 frere RFmes! “fams s Ffa =159 2
(A) 151 &R (B) 100! “fereq

(C) 151 *fere<a éwm (D) 151 *fere<q 110 R

47. N Sl A [Py WWCFT (w@ (9l e @ 10 & 25 10 e 107 peowe ted
FCS A1 | O12ee 1 e w1 1 e b $eoes Codt F9ea 2

(A) 1f6 oo (B) 10 Frw
le < le s
(©) gﬁa‘m (D) Eﬁ?m

47. |1 10 TE WEH HEAT @l TH1 JEUTsR 9 7T 10 T9/@! 10 996 g@E! g, 31 41 1
HEURT 1 OHE Tl T Ol @ e ¢

(A) T1 (B) T 10
.1 .1
© 7 D)

SPACE FOR ROUGH WORK
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47. In case of some labourers with equal work efficiencies, it was seen that
10 labourers could build 10 huts in 10 days. Then how many huts will be
completed by 1 labourer in 1 day?

(A) 1 hut (B) 10 huts
(®) 1 of a hut (D) 1 of a hut
5 10

48. 19 °[1 9 C& (qF R Y& 9 AP TWA-TA AN 5 ST T A 18 I29 HF 7 5 S
STT 1 20 I%F | (71 R 5 & =G q Tl [P RO 19 79 | 9 ] RG-Ha| AT R
(A) 185 <=9 (B) 19 =g
(C) 19-5 =7 (D) 20 =3

48. 1 (AT 9 (1 77 [M8 9 & K e 22¥ 5 T PERIRE ST 9T 18 =G @R O 5 e

48.

48.

PRI oTT T 20 929 | (@ 799 5 A FEFEE 07 19 %9 | 9 T PRI 7T 999 39
(A) 185 9% (B) 19 9=1
(C) 19-5 9= (D) 20 =4

Bt 9 1-9 AT 91 9 HIHETHRE TS T &1 5 e 7 d9isT 18 SR A/ 3AH 4T
5 f3=m 20 SR W 9 5 AT FRETE SE@ST 19 SR | TEE 91 9 HRETHREH TS SEsT s9?

(A) 185 AMER (B) 19 =R
(C) 19-5 FER (D) 20 =ER

Amongst 9 students with roll numbers from 1 to 9, the average age of first
S students is 18 years and that of the last 5 students is 20 years. The age of the
student having roll number 5 is 19 years. The average age of all the 9 students is

(A) 18-5 years (B) 19 years
(C) 195 years (D) 20 years

SPACE FOR ROUGH WORK

LPT-2023/P-1/11-C 34



49.

49,

49,

49.

I WOl TRGA FAALG. FF AALBT @Fe] SF AL IAGH 24 AF 18 | MR HR
[T (2R

(A) 36 (B) 63 (C) 64 (D) 72

@ PG 7 A T Q. G 9. 8.-99 @RFeT R 2N IAGC 24 9% 18 1 46 FRIE
BT 25

(A) 36 (B) 63 (C) 64 (D) 72

SRS "G SANHTH LCM (3o 3o ®To) 3 HCF (Yo 3o ®lo)M Iammd TR
BRATIRT & GBI 24 IR 18| o HiHA SFNHIN AHESITEe

(A) 36 (B) 63 (C) 64 (D) 72

The sum and the difference of the LCM and HCF of any two numbers are 24 and 18
respectively. The product of the two numbers is

(A) 36 (B) 63 (C) 64 (D) 72
50. V81 T I (==

A) 3 (B) 9 (C) V3 (D) /5
50. \/+/81-9F T =&

(a) 3 (B) 9 (©) V3 (D) V5
50. \++/81 T ameT S8=i?

A) 3 (B) 9 (C) V3 (D) /5

SPACE FOR ROUGH WORK
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50. The value of y+/+/81 is
(A) 3 (B) 9 (©) V3 (D) V5

51. ¥ 103 *[l 98 FF G+ AFGE (97 (@TFS 47 GG Tl ¢ A0S AfSCHl #[7a9 werq sty
e oI T o9 g2 29 | 7 e e (989 Y ol 4 Caeg
(A) ¥ 630 (B) ¥ 640 (C) ¥ 1260 (D) ¥ 1270

51. ¥ 10 i@ WF F7 46 F&E OF AR AOR GTSICA BIFl &l ¢ qce 2AfS 2[<@ el o
T AR Seerd feed faese 27 1 7 g o @I ({15 E= AAfHe 36d
(A) ¥ 630 (B) T 640 (C) ¥ 1260 (D) ¥ 1270

51. ¥ 10 TSH G 9@ AHGAT TEH St THE<E el ARaEE aAga 5 o g
@SRS! A S| 7 9F 39 & YR see S ?
(A) ¥ 630 (B) T 640 (C) ¥ 1260 (D) ¥ 1270

51. Starting with ¥ 10, a person deposits money in his bank account such that he

doubles his deposit amount every next day. At the end of 7 days, his total deposit
amount will be

(A) ¥ 630 (B) ¥ 640 (C) ¥ 1260 (D) ¥ 1270

52.

™ e @ a>b WF b>c AC® a>0, b>OWc>O|?ﬂ%d=a+c 7, (9%
feTreT2g (sl 9y 279 2
(A) a<c B) d>a (C) d<c D) d<a

SPACE FOR ROUGH WORK
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52.

52.

a+c

ST B2 a>b R b>c TA2C® a>0, b>0 «R ¢>0 1 I d= 2y, ©@ R
G 37 2
(A) a<c B) d>a (C) d<c D) d<a

AN @™, a>b I b>c SE a>0, b>0 I c¢>0l I d=a-|2-c7 ITeAT TR
EERIIDI

(A) a<c B) d>a (C) d<c D) d<a
52. Givena>b and b>csuch thata>0, b>0and ¢>0. If d = %, then which of the

following is true?

(A) a<c B) d>a (C) d<c D) d<a
53. 227 M tacz

(A) 2 (B) 4 (C) 8 (D) 16

21

53. 27 -9 ¥4 2]

(A) 2 B) 4 (C) 8 (D) 16
53. 22 f¥ AMeT 37

(A) 2 (B) 4 (C) 8 (D) 16
53. The value of 221 is

(A) 2 (B) 4 (C) 8 (D) 16

SPACE FOR ROUGH WORK
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54. q& TEF Y3 SIS WA KW R (RIS waece $earcd Qo 951 ey fIiRee Koy
w7 TEIOMOCT 9 TG S AL SITPCRROA FHCBIE Sl | Sfefe o 4l 9% @
FRANCB SRIFCPEOIA (I 9 | 4% TGqq Tole Sy% TACOIq KU 1@ #I1el T2z
(A) 9% (B) 25% (C) 20% (D) 8%

54. TG+ PERIAICS 12 SICRT G HR] o100 o1 BCARE | Gorae© Rdfb G5 G HR20] e [
AP MW (B 9 T G} THEBIe TEOl [ N | TS (9l (07 @ RN CF
Q@IS 9 | I IR (AP $el YA Rpfo *roies] 2a1
(A) 9% (B) 25% (C) 20% (D) 8%

54. HH HAERE! 9 GESHT THT HHE SHSMT T aemme fom s #mg sHtsmn fol srgan
e IARNHINGE 9 e AR FHSHIGE! el S| JA 7l S o A4S STSTerTea & 9|
MRS M7 SRS o9r SAfemT SiRatal aTf-aerg-rsan s ?

(A) 9% (B) 25% (C) 20% (D) 8%

54. A student was asked to write a two-digit number. By mistake, the student writes a
number which is 9 greater than the correct number and also the digits are
reversed. It was further seen that the sum of the digits of the number is also 9. The
percentage of deviation of the incorrect number from the correct one is
(A) 9% (B) 25% (C) 20% (D) 8%

55. x? - 3x+1=0 fawre ANFIBR TR o @9 (202

V3 3
@) - B) 5 (€ V3 D) 3
55. fagrs a9 x2 - 3x+ 1 = 0-43 CoR I3 &

(A) f ® 5 © 3 D) 3

SPACE FOR ROUGH WORK
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55. O a1 GEAER x2 - 3x+ 1 =0 1 e e
J3 3
(A) - B) - () V3 D) 3
2 2
55. The sum of the roots of the quadratic equation x2-3x+1=0is
J3 3
(Aa) - B) - (C) V3 D) 3
2 2
56. <5l I5e9 ST (FRHNM BRI SF (FHH SIS 1o T (AE C2f2d | (e (@l
5% (@ A5ECOIS AF MO I 9 RN 19 | Y (26T TR 92 | IBEICHIS AP BIHCITHI
o9 AN (202
A) 8 (B) 11 (C) 13 (D) 15
56. IFb @O FETMH RIS 4R FEAPO SRAN-JS (77 G A 2CQMRF | PR D

56.

56.

T R 1975 G- (G #1es R 9216 “eA (1R | (@S SRA-TS AR AT 2

(A) 8 B) 11 (C) 13 (D) 15

T 1 FYATE HE@W I A 6 AR i 4 T TH! G| = TE 19 BT 3 STHAHT 921 1 i
4 T TFRIST HTeH ?

(A) 8 B) 11 (C) 13 (D) 15

Some six-legged and four-legged insects were kept together in a bottle. The total

number of the heads of the insects was counted to 19 and total number of legs
found was 92. The number of four-legged insects in the bottle is

(A) 8 (B) 11 (C) 13 (D) 15

SPACE FOR ROUGH WORK

LPT-2023/P-1/11-C 39 [ P.T.O.



57. (Il 91 ARG FRA SF b1 SRCR TR 50T S e I
(A) SRGR S ARG (B) “IRTT (< 2I_C
(C) e = i (D) SRR < SRR
57. 0 ARGR @32 GF0 FARCR AR @N9RFE G372 BORFe IAGCH
(A) SRR @R ARGR (B) IR @R “IRCw
(C) IRCT @32 SifHeT (D) SRR 3R SRR
57. TASET AR AR TS ST TSR AR TS 247 B
(A) TESTEATRI AR TASIET (B) TASIEIAT AR TASI&T
(C) TASIEAT AR TSI (D) TEASEATR AR TSI
57. The sum and the product of a rational and an irrational number are respectively
(A) irrational and rational (B) rational and rational
(C) rational and irrational (D) irrational and irrational
58. (Il 9 PR o 72T 7}l 30% P9 F6 99 2w F 31,500 TOlE W2 | (9]

58.

58.

58.

VAR o IR (3
(A) ¥ 35,000 (B) ¥ 40,000 (C) ¥ 42,000 (D) ¥ 45,000

GG FAOE O (T (AT 30% T TSI 219 € 31,500 2O 7 | OF (qoe 25
(A) ¥ 35,000 (B) ¥ 40,000 (C) ¥ 42,000 (D) ¥ 45,000

30% QST W AR 3919 98 giigeTadr € 31,500 T 3mamEand 94| i soesn

(A) ¥ 35,000 (B) ¥ 40,000 (C) ¥ 42,000 (D) ¥ 45,000

An employee receives an amount of ¥ 31,500 after a tax deduction of 30% from his
salary. His salary is

(A) ¥ 35,000 (B) ¥ 40,000 (C) ¥ 42,000 (D) ¥ 45,000

SPACE FOR ROUGH WORK
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59. 15+15+15+ ... 200! “M(e] @OIFe™ 15% 9 M 29

(A) 45 (B) 50 (C) 15 (D) 20
59. 15+15+15+ ... 20 *% “Rf@ QT 15%-4F T 2

(A) 45 (B) 50 (C) 15 (D) 20
59. 15+15+15+ ... 1 20 foe@fmt 15% 3m s@?

(A) 45 (B) 50 (C) 15 (D) 20
59. 15% of 15+15+15+... up to 20 terms is equal to

(A) 45 (B) 50 (C) 15 (D) 20
60. 72, 88, 136 F 299 F99 7[I SIRPST FRCHT 25

A) 8 (B) 12 (C) 16 (D) 18
60. IRCHE SIED TR A 72, 88 R 136 (I 7Jfelcd @9l F Gib 2

A) 8 (B) 12 (C) 16 (D) 18
60. 72, 88 AW 136 @I |1 Tl T A& ARTHMT el ?

A) 8 (B) 12 (C) 16 (D) 18
60. The largest number that divides 72, 88 and 136 completely, is

(A) 8 (B) 12 (C) 16 (D) 18

SPACE FOR ROUGH WORK
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PART—III : Environmental Studies

61. FRENS @R THREDS {170 S HAHFS (@TRI203F FHHe B ?

(A) www (B) http
(C) https (D) ftp
61. ficy Tl @M ToReD 3 fomi7m ¢ J[fFe Spies Fom e 2
(A) www (B) http
(C) https (D) ftp
61. TEAM ToT g2 A AT@TEeT Whlg 13 g fafomr?
(A) www (B) http
(C) https (D) ftp

61. Which of the following indicates a safe and secure web site on the Internet?
(A) www (B) http
(C) https (D) ftp

62. “[RTre e IREMYE IRE P IS 20z
(A) 21% =T2G TS NF 78% ABCE
(B) 78% I35 & S 21% SRS
(C) 78% SARICET TN 21% FIdel TIZTHZT
(D) 50% ST IAF 21% T TIRSFZT

62. 7[R IRASE IRF SIS 90w 27
(A) 21% TREICTT GR 78% SIS
(B) 78% IBCGICT GR 21% SRS
(C) 78% SHTH @R 21% I TSP
(D) 50% SRHCEH IR 21% FH TEHZT

62. FEAM IR H SAE ATHEH
(A) 21 SE=T ATE2eA AR 78 Saal I  §
(B) 78 Sl ATE2eA R 21 S@l-al 31fRasH §
(C) 78 Sl AfFas AR 21 AT HTe-STZTRATES §
(D) 50 S AfFas AR 21 AT HTe-STZTREE §
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62. The air in Earth’s atmosphere is made up of approximately
(A) 21% nitrogen and 78% oxygen
(B) 78% nitrogen and 21% oxygen
(C) 78% oxygen and 21% carbon dioxide
(D) 50% oxygen and 21% carbon dioxide

63. s M i 77 MRS (e BT FoFRe (@ EPHEs ®o7 T Rl 21?2
(A) SRoCagTRl I (SIEHTER’ED #1120)
(B) RRreq? w1 (Ko o'z w)
(C) rcIel (C=fCcacbee)

(D) e I (QfFTeme FET)

63. O3 YT we RN (SAOR PRERR) o TEe @ R wesks gk
R 37 2

(A) e (UV) It
(B) fR7H® =19 (RO)
(C) ST

(D) Al I

63. STRRATAN T WEETE Je YNEIST Tl T St faem?
(A) TS ®BHYE TE (UV) &
(B) 39U THUEAT™ (RO)
(C) e ™
(D) | SHT Wl

63. Which of the following stages kills harmful bacteria in modern water purifier?
(A) Ultraviolet (UV) light
(B) Reverse osmosis (RO)
(C) Sedimentation

(D) Activated carbon
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64. M SleTolre SofeF P SRCFCe [ 3o 327 F¢@ O’ 27
() o (B) S @
(C) 2= 32 (D) SRS

64. “msicS O el &l 28 Bfere o7
(A) PRFC=R (B) gfmrcE
(C) =i T (D) TIRICSR

64. SHTH Mol TeTmEe Moyt TEd B ST o= fufyr g
(A) = (B) = FiRmm™
(C) TR 3r@ (D) = T

64. Heavy silt deposition in riverbed is an indication of
(A) earthquake (B) soil erosion

(C) heavy rain (D) snowtfall

65. RIS (@FFCH! 4 TAWICT FoFT FRINT S () 519TS 2 FCT ?
(A) CITR (B) &
(C) AMIeTS ©% (D) ST

o

65. Ty Shfle @ 4w SomEfs T AN @32 ot S19cT AR ¢ 2

(A) rcrerzegs B) o
(C) AMTeIFRFITE i (FIZA) (D) califbe
65. TEMEE B 6 TR TG TRIE BHAT ST e IR SHISTE B ?
(A) FeETEg (B)
(C) <At HrEeRd (D) wfeT|
65. Which of the following food components aids in wound healing and muscle
building?
(A) Carbohydrates (B) Fats
(C) Dietary fibres (D) Proteins
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66. 2023 79 137 5 SR fHRIRS @HaRIF PR el ?
(A) To foxm e *f
(B) =lczes e 31
(C) MR 5% oI

(D) CTFCOCD (SCeIcael (TPRAS) (F9en faias [z

66. 157 W5, 2023 e SFRA FAfRS (@R e PR T 2
(A) ©. 28 [ s
(B) aczor waw g3
(C) HCaleT bw P

(D) CTFCOUID (SICae (SRPRNG) (F3en faRa <[

66. WA 2023 1st wE e smem TsAfifEr ar?
(A) efo femra fava smi
(B) Sho ST g
(C) = T = HarR
(D) <o S0 (X.) Taca Hifaswm s

66. Who amongst the following is the Governor of Assam as on 1st of March, 2023?
(A) Dr. Himanta Biswa Sarma
(B) Prof. Jagdish Mukhi
(C) Shri Gulab Chand Kataria

(D) Lt. General (Retd.) Kaiwalya Trivikram Parnaik
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67. WIS @G B ]l Sed AYWNZIE ATl TR e (RIS eI ¢ 2

(A) 8IS = (B) =rerfem
(C) oW waw (D) 9 farma
67. Iy Tale &M T (AF RO d4Ne FiAeTol W (RIS SR I 2
(A) FZARS T (B) ST
(C) oM =< (D) T F=m=
67. RAH 3MY | 3ATE ARAH TR TS FRTHHE et fogerat ami?
(A) Ul 9= (B) & Wi
(C) T&e e (D) Fqa FFw

67. From which of the following does the Prime Minister of India address the Nation
on the Independence Day?

(A) Rashtrapati Bhawan (B) Red Fort
(C) Parliament House (D) Qutb Minar

68. FfEIS (PR w7l P e (3 AR SeqH© e T 2

(A) SR (B) GRITSTE
(C) CTReMRE (D) fem

68. Ty TalRe (@ a1l SOIR W41 M 2[IfES 200 SRCS 2@ FCACR 2
(A) T (B) femm =afer
(C) eI (D) few

68. T M YaSl SREAM TRATS ETeha ?
(A) HHEE (B) TS seft
(C) gafaf (D) ferea

68. Which of the following rivers enters India after flowing through Bhutan?
(A) Manas (B) Jia Bhoroli
(C) Subansiri (D) Teesta
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69. WIS @FFG I Sed FRYET ABRTS J[SAT =10 AR ?

(A) SRS FFCE (EIICF SRSF AL ARSI TS ..
(B) T SIORE SRS Q¥ ARCO TS ..

(C) T Iz wweleel el Sre Q2w KN S ...
(D) S ST GIRPTR S G TS AAET ..

69. TR FRYIEH 2BRAR s (@b A[EsF I 2

(A) SIRCSA TIE T, SRS MR T FIF I ..

(B) B SHOR SO 900 o) e I ...
(C) AT SIACSS Teol] SITecE FIAe T T ...

(D) SIHI ST Sale] SROCH GPib ARKCSI ...

69. WTRATH GfAfSEH G BRATT e F/ o« JFEs saasi ?
(A) 9RAT TS AHAET WA a7 .
(B) YRAM & Ra@! a4 ...
(C) S A GIwI WA 3 @A ...
(D) St YRAH GIer IRaE! T ..

69. The Preamble of the Constitution of India has which of the following opening lines?
(A) All the people of India, having solemnly resolved to constitute India ...
(B) All Indians, having solemnly resolved to constitute India ...
(C) We, the people of India, having solemnly resolved to liberate India ...

(D) We, the people of India, having solemnly resolved to constitute India ...
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70. RO @AREE CACPIOTS AT AT O € @EIEN 23 (ICT)T TRRFAC7 IT2T
7 AfE 2

(A) 2CETT AF Fl
(B) 333C0 2GR S FH FPRE A
(C) ZBRCIG I S FFTH
(D) C55-5 I M (Oferfena
70. fica Tfefe @@l @21 ¢ @eEel @jfe (ICT)H ere & ciiees ~owies &« I92]
1 (TS TG 2
(A) =ceT RiFRe g (CAIeesd) @R~
(B) 2wCeb qu< (f2Bm) @ el (o) T
(C) e (TTRC) A9 IR AR (FAITHE)

(D) CT6-57 79 R gl (CBfetfer)

70. TEMEH TS 9@ WUTETE BRAEE [CT 9e8 Sfd STeeHr g@?
(A) TSI IR TSt
(B) =hoic Hivex TR IR i
(C) 2R HHFHT AR HFFIX
(D) ¥2-T9 T AR qfeAfae™

70. Which of the following can be used as ICT aid for teaching in a classroom?
(A) Projector and screen
(B) Inkjet printer and photocopier machine
(C) Internet connection and computer

(D) Set-top box and television
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71. SR FATS! HCHITIF FECRATS 2IAFAHE TGRS (FCo! Toell FEBS (2fReT ?
(A) 1942 : TormSl 90 (1 12 329) [fbce sflermzfe
(B) 1943 : 3@ (F1RT3 0l frayl C2feat

(C) 1894 : I73 [uR T 2oNHI%

(D) 1861 : F91€S JIFIS S A3 20

71. SRCSF TS SCHECT TN ALARFACD WRATLS (el GO0 TCoRe ?

(A) 1942 : forersSt TacE (12 30/ 731) &foean sfar s

(B) 1943 : @1 (SRR FIPT =1

(C) 1894 : I73 U2 3R N2y

(D) 1861 : W9 TP SRR AUBE ==l =5

71. TR 9 TR WRA 3676 AHTEGHRAT THTe qATREmRESTE SEHH ¢
(A) 1942 : Tafaen focivad s (12 @R I91)@ TEu
(B) 1943 : Fu@ Fa@! HrEl =01
(C) 1894 : STETET foumr™ ST JAREH
(D) 1861 : TIEAE e HHTHRE! FARA

71. Which of the following incidents took place at Patharughat during India’s
Freedom Movement?

(A) 1942 : Tileswari Barua (aged 12 years) shot by the British
(B) 1943 : Kushal Konwar was hanged
(C) 1894 : Peasant Uprising and Massacre

(D) 1861 : Lynching of Assistant Commissioner in Nagaon
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72. FIET-19 oEARs [ T @ FERfe @Rk (eiba SRee WERre aEe 71
(afeet 2
A) Ifsfe (B) (FICSiIT
(C) =i v (D) “BICSCeTs
72. @FfT-19 SEACR [T B mea® o s @ HFh srce (rireE Teifie zwfe 2
A) @FIfeHeg (B) (Frenfa
(C) ™[5l Vv (D) STPHICSCF
72. HIHE-19 TR @ty qe a9 fewrdl wraEd! g semE?
(A) =Hifafies (B) TG
(C) Tgeie Vv (D) TSR
72. For vaccination against COVID-19 virus, which of the following vaccines was
indigenously developed in India?
(A) Covishield (B) Covaxin
(C) Sputnik V (D) AstraZeneca
73. PreS AAfcR Ec 991 FEemic

73.

(A) CoEERe Pramg ol {3 AR $7_e (=1 #[]1 e THCR Q- (RIS el
EIEESINCCIRIE

(B) “Ifcaeaiere Sibel STPTPTNRS AL AT ARG Sl S el o/ (oice
(C) Wl fc=@em zrel e TIre 2R P
(D) RSP SURTT 2P (2 I

G310 MY ARG (e R 0!

(A) oI P g3z T Frercd ARECS eifie w1 Rl @RI T4 (Il e[ 2[cw =1
(B) R0 Sibe T FKCAR &) 2SI S G 7] (o 23

(C) WP IR 2l JICS A= B

(D) “RACHEAF JRC TSRS FCa
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73. T AHRE! SEEETH dR IR
(A) Torarf forien e wraemn A1 SATEREEE Mem Wiecl, s@t fsEr g
(B) ST STRTEERT TR FErE W q1e- T fimm S sarfadt 9
(C) STEM STEREAMEM MemeE! g g
(D) ARTSITEATEAH HeA R M g

73. Teaching a child about the environment

(A) has no impact on understanding how their decisions and actions affect the
environment

(B) builds knowledge and skills necessary to address complex environmental
issues

(C) helps to understand the impact of overexploitation

(D) encourages collaborative studies

74. RIS (PR 2Arpfes yefien e -J@ FHICh! 2R SPRs ?

(A) el (B) Ao
(C) I (D) Nrezarz
74. I TfEfe (@ Ao qediee [TerT (e 2 e ?
(A) <=1 (B) gffare
(C) PR (D) Cx[r2RTE

74. TEEH o6l iR e ST [T g g
(A) ST AR (B) fwm aw
(C) i A (D) g 2l

74. Which of the following natural disasters is nearly impossible to predict?
(A) Flood (B) Cyclone
(C) Earthquake (D) Cold wave
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75. TSRO (P TS HHE KT IS SETS 2
(A) CoTERaT (B) T2NIE
(C) T (D) @EEIH
75. R AERA 4 SRCSHA (I ACEH SIS 2
(A) CoCemE (B) w2IE
(C) ayzT™ (D) @A
75. TER TET I YA o qgsietE?
(A) deTTE (B) Wewrg
(C) T ge= (D) TS
75. Which State of India is Sardar Sarovar Dam situated in?
(A) Telangana (B) Maharashtra
(C) Madhya Pradesh (D) Gujarat
76. SRS 2 AR B =TI 2[1ell 2P R ?
(A) 72% (B) 97%
(C) 61% (D) 50%
76. 7[R GG SR T *OIR¥ T2PTNCH SR ?
(A) 72% (B) 97%
(C) 61% (D) 50%
76. QAMTHE JEHM SHel Saral ¢ &7
(A) 72% (B) 97%
(C) 61% (D) 50%
76. What percentage of Earth’s total water is found in the oceans?

(A) 72% (B) 97%
(C) 61% (D) 50%
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77

77.

77.

77.

TeRfTReT2g (A T A5 SFTe TBYe 7= 2

(A) oz Cocar A8 T (B) W12 AZR TwiE
(C) =TI IFE Ty (D) FIfE=er B T
e Sfeire (@ T dweeR SEe WEee w1 2

(A) & G Srol Ty (B) ST SISl Tyl
(C) IR STroR Tyl (D) eI STOR Twyle

TMEMETE B Se 3] ‘TSige 23T AT A% STEg ?

(A) feg =m@'an ggeTl @ (B) WM TFSTR uTeh

(C) AR BRETR ureh (D) HISEST BYESTR UTeh

Which of the following is not included under the Project Tiger?

(A) Dibru Saikhowa National Park (B) Manas National Park
(C) Nameri National Park (D) Kaziranga National Park

78.

78.

78.

78.

o~

(ol FRART FFRIITRT (PR IS 7= 2

(A) < (B) A SISl

(C) IPTEETE JAGTE (D) “[T DAF© 2T

forc Sfafe @mh toa s wmsfe w3 2

(A) cor== (B) SEIECHR

(C) TPTART FBTE (D) B¢ 41 “Te9 2T

zenft emere faforema emf serat srErn?

(A) THER (B) 3@ g 7' o7fs gan
(C) TEEATR Tt ®idhm gfer (D) STR®RM BRI T2

Organic farming does not include the use of which of the following?
(A) Cow dung (B) Kitchen waste

(C) Chemical pesticide (D) Pulverized animal bones
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79. SRS (TSR (FIFIREC] (FI BoTS 0 F1 (2(2e 2

(A) 2020 (B) 2015

(C) 2011 (D) 2021
79. SRR TR G9leH] FCI T 20 2

(A) 2020 (B) 2015

(C) 2011 (D) 2021
79. FEEI YA GH@ST HIsAT STATHH ¢

(A) 2020 (B) 2015

(C) 2011 (D) 2021
79. When was the last Census of India conducted?

(A) 2020 (B) 2015

(C) 2011 (D) 2021
80. FHRIIONZI (F14 O] GF &y 7= ?

(A) & S AT (B) (At

(C) CSCeTRaTT (D) fofew
80. ity Tfalie @ SHred ¥ ey 71w 2

(A) &= e TR (B) o

(C) CoceTsren (D) Pifew
80. TR el YRAM s TST7

(A) SHY TR HPHR (B) Tan

(C) T (D) fafem
80. Which one of the following is not a State of India?

(A) Jammu and Kashmir (B) Goa
(C) Telangana (D) Sikkim
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81. e mzs (FIeHl AT SaqesR g5 TomI 7= 2
(A) PreTess (B) IREe

(C) eTes (D) $-%ea

81. iy Cie @M ~A¥ GReecey i TAme 77 2
(A) TP (B) e

(C) EeTge (D) -9

81. e e ggufy e 7 zaf s q=?
(A) TTHSA (B) IR H A

(C) U (D) 4-9

81. Which of the following is not a component of Earth’s biosphere?
(A) Lithosphere (B) Atmosphere

(C) Hydrosphere (D) Geosphere

82. R (FICH! SETr I a1 41 &la =7 2
A) wfers [ofer 51 516e1 (@rfie tferns & fereif)
(B) llcsr =t TeIReay (2Bl b
(C) =i (anfefery acwbrR)
(D) foifen (573 7/55"m)

82. Ty Tfafie &= MiEecaw a4 w2
(A) wfere fefer 51 5ibe (el wfst)
(B) lfcoral =t etfeel (2BIE] 2icoo)
(©) o (coifefenn i)
(D) CTFTIEN 25T (@5 7fbe)
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82. TR F&AT TN & STt F=1?
(A) 3nifera freeht Ao @/ (Qfig=iord 3Tferyraa)
(B) T iy g (ranfar i)
(C) =t (Tmfienferg Teifeaa)
(D) e wewR (R glaaRi)

82. Which of the following is not a freshwater creature?
(A) Olive ridley sea turtle (Lepidochelys olivaceq)
(B) Gangetic river dolphin (Platanista gangeticq)
(C) Gharial (Gavialis gangeticus

(D) Golden mahseer (Tor putitora)

83. TRSH MR T SEPH! S (FFTCH! 2Tl eZI o[ 91 (2R ?
(A) e e (B) femm “ifsm
(C) =rre-<NPre “IfTam (D) %M %o

83. (P 2P A<M SR MR T STl TP 2ffe 2R ?

(A) 2T TS (B) feer ~ifaw
(C) FrrexitTe ~ifkam (D) el e

83. WRATR HfafSEH 6th FINETEH HY TEEA SHE GATEATR ATHET a7

(A) & T (B) forem uftwe
() =g T (D) srafer: e
83. Which administrative body is set up as per the Sixth Schedule of the Indian
Constitution?
(A) Gaon Panchayat (B) Zila Parishad
(C) Autonomous Councils (D) Anchalik Panchayat
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84. RIS (FF4 TP TeI-7[7 eI UF ey 2O [eabel 1 2 2
(A) 5 (B) fofaw
(C) A= (D) ==

84. frfeie qraefem T (@i Teg-7[ TrTed o f2cq [eaibe 21 2
(&) AR (B) P

(C) ATTe (D) fazrg

84. TEEM Fd TS FI-HHS YA STEF ST ?
(A) FETE ST (B) fuferm

(C) #rsE@ 3 (D) form

84. Which of the following States is considered as a part of North-East India?
(A) West Bengal (B) Sikkim

(C) Jharkhand (D) Bihar

o 0

85. FRI® (@FH B STreTmeld MR R 2
(A) PR : T
(B) WI%[q : 1e0% 20
(C) CTAER : Al TG Tyl

(D) fa7 : Tees Arszmim

85. ity Tale &M (Sl Sre&ed (e 2
(A) SPIN : Agf
(B) W% : GO 20

(C) T : T GO Sl

(D) fa7n : Tees Arezmm
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85. TR & el M g7
() T 5 AT
(B) TG : Aiehesh foratt
(C) TETE : ATHETHT ERYSTR UTeh

(D) Frgu : IS TSHEd

85. Which of the following pairs is incorrectly matched?
(A) Assam : Majuli
(B) Manipur : Loktak Lake
(C) Meghalaya : Namdapha National Park

(D) Tripura : Ujjayanta Palace

86. RS (< 913 SPINT G4« A (BoIhc 917 F 2T 2
(a) fog (B) TRshe
(C) (T3 (D) =T

86. Tty Tfarfle @ s wIvieTw (g f2oiea fRicafos =x 2
(a) fog (B) WfRefis
(C) T&°& (D) 2FeR

86. TMEMEM so@! WA TN o= G FeI?
A) feg (B) HRIME
(C) oy (D) TTHAT
86. Which of the following is considered as a hill station of Assam?

(A) Diphu (B) Morigaon

(C) Tezpur (D) Haflong
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87. feT-SICT-foTaMR (F TR GF _{19S TS 2
(A) iz (B) G $2]1
(C) fe=n (D) el

87. IRT-SACH-FI9MR (T TN GF REIHITS T 2
A) TR (B) TR IR
(C) e (D) el

87. 311 3 fermm-3m 9 werify et wre?
(A) faf& (B) ST FOR
(C) fomm (D) T

87. Ali-Aye-Ligang is a traditional festival of which community?
(A) Mishing (B) Sonowal Kachari
(C) Tiwa (D) Rabha

88. TEI-7[ SO (FTI AT ' FI9’F T S 25T 2
(A) SIETDET 2l (B) faom
(C) T (D) fofe

88. FFITP ORIG TET-4d SRS (P AT TS ?
(A) SIS 2Cm (B) faom
(C) G (D) Fife

88. FhdISh-3T HT-HHST YA o« TSI a7
(A) TRV UeuT (B) fgu
(C) Hemer (D) fafrrm

88. Kokborok is a language prevalent in which State of North-East India?
(A) Arunachal Pradesh (B) Tripura
(C) Meghalaya (D) Sikkim
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89. S (PPIRCE TN A e RS (e w2 ecae =72
(A) I FrE (B) 1§ TS
(C) IIoeeb (D) &R 2N

89. Tty Tfaf® (FF D Sw=y (703 SR Sy 2ICAS 23 2
(A) I T (B) SHIF FIE
(C) “IPTCAIb (D) &CHF 2 eIe

89. NI YHE EERIHISA, TMEEE 8™ a9« afcterd! T e
(A) U HE (B) TR FIE
(C) (D) STHMH BRATATS

89. Which of the following documents is generally required to travel to other countries?
(A) PAN Card (B) Aadhar Card
(C) Passport (D) Birth Certificate

90. FHfERS @FMoRF wiaa-Haee erm F41 o[ AT 1SS 2
(A) T TR (B) cAfGfoan gf=
(C) <o <A (D) f<earett el

90. iy Tfafierm W (& TEA-FE gur [eea TuiREd o o[t 2
(A) T IS (B) ~miGRRI i
(C) o= T (D) eareT qrel

90. TERE T W RAT JURARE! S orar fifr sm?
(A) SHEC TEE (B) ufeRmn gfaw
(C) ¥eFer THOfT (D) forearen T

90. Who amongst the following is known for her fight against witch-hunting?
(A) Komoli Mosang (B) Patricia Mukhim
(C) Thokchom Ramani (D) Birubala Rabha
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Part—IV : Language—II [English (Compulsory)]

TR 2 4 TR ST (3ATE) - Yo 306! 20 Wy WA 2 W HFCN AT A TS |
A @2 1ol ST (21E)-Te (WG 30 2 IR g% G SIS el A Sl OIS |

AT AT 2 S SmerEE wE-I (3sT) T am 30 SHE e fE gemE e e amEm e
B |

Tgwaqut : ot ghenfiE % foe gw wm # wre-I1 (1) % gt 30 ww wrfEr 2

Important : This part contains 30 questions for Language-II (English) and it is

compulsory for all candidates.

(English)
Direction (Q. No. 91 to 120)

91. Which option would best represent the given sentence in passive voice?
“Suresh’s cricket ball broke Ramesh’s front window.”
(A) Ramesh’s front window was broke by Suresh’s cricket ball.
(B) Ramesh’s front window was broken by Suresh’s cricket ball.
(C) Ramesh’s front window is broken by Suresh’s cricket ball.

(D) Ramesh’s front window broke by Suresh’s cricket ball.

92. Which of the following is not a method for development of language skills?
(A) Testing (B) Listening
(C) Reading (D) Speaking

93. Insert the correct articles in the given sentence :

“I learnt good deal about him during rehearsals.”
(A) the, the (B) the, a
(C) a, a (D) a, the

94. Which article would be appropriate in the given sentence?

“ university is closed today.”
(A) An B) A

(C) The (D) Article not required
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95. Identify the correct words to complete the given sentence :
“ image in the distance is due to torch in my hand.”
(A) This, that (B) This, this
(C) That, that (D) That, this
96. Identify the option that would not be correct for the given sentence :
“ of the workers is eager to take responsibility.”
(A) Either (B) Neither
(C) Al (D) None
97. Which of the following are correctly matched antonyms?
(A) Friendly : Happily (B) Friendly : Hostile
(C) Friends : Friendly (D) Friends : Classmates
98. Find a word that can replace the underlined word without changing the meaning :
“We shall postpone the meeting by two days.”
(A) defer (B) differ
(C) devour (D) diver
99. Which of the following are correctly matched synonyms?
(A) Concurrence : Occurrence (B) Recur : Curving
(C) Concise : Brief (D) Disrupt : Join
100. Identify the correct option to fill up the blank :

“Eating fruits and vegetables health.”
(A) is good from (B) is good of
(C) is good to (D) is good for
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101.

Identify the appropriate option to fill up the blank :

“l am not barking dogs.”
(A) afraid of (B) afraid for
(C) afraid about (D) afraid to

102.

Identify the correct tag question portion :

“We must lock the doors, ?”
(A) didn’t they (B) mustn’t they
(C) shouldn’t we (D) mustn’t we

103.

Identify the appropriate option to fill up the blank :

«

After dinner, Robert made a suggestion, we go for a walk?”
(A) Why didn’t (B) Why don’t

(C) Why do (D) Why may

104.

Which punctuation mark can be used to express strong feelings in written English?
(A) An exclamation mark (B) A quotation mark

(C) A backslash (D) An apostrophe

105.

Which punctuation mark cannot come at the end of a sentence?
(A) A question mark (B) A period

(C) A colon (D) An exclamation mark

106.

Which part of speech does the underlined word belong to?
“l hope to study in a university after my graduation.”

(A) Adverb (B) Noun

(C) Verb (D) Preposition
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107. The underlined word belongs to which of the parts of speech?

“If we finish our work quickly, we can go home early.”
(A) Preposition (B) Adverb
(C) Interjection (D) Verb

108. Identify the incorrect answer to the given question :

“Are they ready?”
(A) Yes, they’re. (B) Yes, they’re ready.

(C) Yes, they are. (D) Yes, they are ready.

109. Which pair of contractions is incorrect ?
(A) Wasn’t : Was not (B) Weren’t : Were not

(C) Won’t : Want not (D) Wouldn’t : Would not

110. Identify the appropriate option to fill up the blank :

Kim can speak Hindi can’t speak English.
(A) and (B) though
(C) because (D) but

111. Which one of the following is least effective in enhancing the speaking skill
of children?

(A) Listening patiently to children’s talk
(B) Asking close-ended questions
(C) Encouraging free thinking and speaking out imaginations

(D) Organising discussions on a given topic
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112. Identify the proper noun in the given sentence :

“The jug was placed correctly by Rahul.”
(A) jug (B) placed

(C) correctly (D) Rahul

113. Which word is a verb in the given sentence?

“At the Olympics, Lovlina played brilliantly.”
(A) Olympics (B) Lovlina

(C) played (D) brilliantly

114. Which word is an adverb in the given sentence?

“The driver honked the horn very loudly.”
(A) driver (B) loudly

(C) honked (D) horn

115. Which word is an adjective in the given sentence?

“The event was anchored by a beautiful lady.”
(A) beautiful (B) lady

(C) anchored (D) event

116. If the words “answer knew people correct many not the” are arranged to form a
correct sentence, which word would come at the end?

(A) people (B) correct

(C) answer (D) many

LPT-2023/P-1/11-C 65 [ P.T.O.



117. Which word would correctly and meaningfully fill the blanks in both the sentences?

The athlete jump the hurdles.

Further discussion will take place dinner.
(A) after (B) into
(C) between (D) over

118. Which word would correctly fill the blank in the given sentence?

“Robert is the boy in the whole school.”
(A) taller (B) tallest
(C) badder (D) baddest

119. Fill in the blank with correct option :

“It’s time the students working on the assignment.”
(A) started (B) start
(C) will start (D) would start

120. Which word would be correct to fill the blank in the given sentence?

“Due to incessant rain, local trains are late.”
(A) run (B) ran
(C) running (D) runned
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PART—V : Language—I (Optional)

IR ;@ TG SR-TS SN, e, 0T, B, 1, R ST SroReve 31@qr6—afeh SR 3051F
o W0 | 2[RI S 4@ SF OMR Ted-718d SIS TrEd F91 SRR efensd Ted frq
9= |

TEFR G2 IOl OE-1-9 SR, qie, qeel, &6, 6, S 992 worene 2E—afet e@E 301
A 2P ICR | IR S 2lcd 992 OMR Te-ocqq SRI-1-co T 391 SR ersfer Ted fice
29|

AT AT 2 iy srErmEE Ta-1 T swdEn, o, v, BT, AR, Fifd Il stieeiey sis—saRasEn
AT 919 30 Hify oA | SIEBR fSArEmeT AR 3 OMR e faemst wa-1 a9 9@’ = & e
BT |

TETqut : 39 9F % wwi-1 % fow fou o faskedi @ erafiEn, swen, drel, o, AR, wifd iR eifeefn
FSH—ucdes W § 30 U9 WA | wdentien 3 ereed-u R OMR IW-u § w1 #§ @ Wi # 3gd
foram 2, SeRt St 9T § IR 3 )

Important : This Part contains 30 questions each in Language-I, for which the options are
Assamese, Bengali, Bodo, Hindi, Hmar, Karbi and Alternative English. Candidates should
answer the questions for only that Language-I option which they have given in their Application
Form and recorded in the OMR Answer-Sheet.

( ASSAMESE )

121. ‘OI3’F R7_e foral (acz
A) o5 (B) SICH
(C) it (D) =Sl

122. ‘93133’ (b9 IS =7 (202

(A) T (B) SRl
(C) Tl (D) SRR T 1

123. fTafie I=7e 2 S et e =
“JIF PR PIRCE qrecw 9 @ AR 17
A) SmE (B) IRc
() =« (D) “I=

124. RER *&2 Forgeid L2 M FRK AT (90T X (@l 27
(A) T (B) =3
(C) 2o/ (D) k&l *%
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125. 1 JERCST 92T T 519 (7151 2 7 W0 = O (q1eTl =
(A) =7 TP (B) fae 1™
(C) <=z P (D) (e ST

e NN

126. FHfERS REPRI [ TR Hre w1 :
(A) (B) “
(C) « (D) =

127. SEIFFFS PR 9 (U6 (2], TS 41 € ACIE AT A2 I 71 SESF (el

|
(A) F (B) =[5
(C) = (D) fer<=1

128. FRETROTRT (FICH! 710 P Tomely =123 2

(A) wfSeEe] e (B) Spii=edT
(C) <Efocan (D) TTg-req Ice Pl

129. STE0° *@oa e (a0
(A) I=R (B) cr=et
(C) coreTei (D) ®I%7

130. 9Bl *77@ 2SN 4 :

G JI<FF I3
(A) FTH (B) @
(C) =5 (D) TpTe

131. = ©Iel : $CAB
(A) O + G5 (B) ©% + &I
(C) = + &b (D) ©% + 436
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132

A S1e! : STF
(A) o + O (B) N + =
(C) T8 + = (D) A% + 1<)

133.

SR FRI-AEOR T Fo ¢ RO wa IO (2
(A) Y TR : G (B) ‘oW bR’ : (2 ATl
(C) ‘TR’ : MK Il (D) “GTreeanfa™’ : Rars gl

134.

ferferire Rpepmes (IR =i ResrRecs 725 | 7j2% [ dare 54
(A) ORI (B) e[l @l
(C) e ©g (D) T (329

135.

136.

137.

SR (&R PR A [ w41 S (2R

(A) =PRI o Tahe AR Tl (B) PN @
(C) =P Afze el (D) ARG TG Tl
STIf2e; SRFCS 01 2019 AN PRl TR (2R

A) ‘FIWMCOR T (B) “=T9R1 SIq IR
(C) “Sreze’ (D) ‘Pret-o@’

&I P51 fqReT @il (2o

(A) =% 5> S9[LIe! (B) @94 IS

(C) =% (TP (D) Zv™ %4

138.

SR AR wifrpel SHiem e AR w91 e e
(A) =T 3ol (B) (& Sifesl
(C) fae wwrom (D) fe==rel

LPT-2023/P-1/11-C 69 [ P.T.O.



139. SPINAI SRF ORI *ROTIE (202

(A) cwar fefew Tea czEl <P

(B) o] SR #[[1 ¢ AN 22 91 *FPTE

(C) AIFS SEE 2[I CAICT (AT 229 1 *RTR

(D) ™S SR “[@I CAI (A 212 1 /T2
140. IS IS SRIH! (20T

(A) oS #ffeq e (B) W& =

(C) F&=EN o (D) & e
141. “CBCOM RGN AGA CPICa o= Fiifee] 2

(A) R ComlfeeaEal (B) PRI (TSIl

(C) wezm TG (D) =TCFma <l
142. e x@mel 3oz srym oo Ko Sfae

(A)  oTRR—I[G (B) HE—fGa

(C) Ffea—gen (D) WHRITE—<Tg2
143. ffEe qwbe SRR’ =i e 4

FeeC B (P W9BT TeriR feTe (2 WeR-YR e I 9 qa-wi @ o’ |
(A) TR (B) et
(C) TR (D) ¥91-91

144.

ST AP (RIS AR = 2
(A) o = (B) TwFAR SEIOR
(C) ST *2F (D) AT FIFFS
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145. <& 92 77 T F51- Q@S 577 91
“qgIq B ol
I GECF AN (O FE 17

(A) TEEm, F (B) Freom, Gez-ohe

(C) I3 (T, TH-90% (D) 999, T53-906%
146. A o7 w1 (20"

(A) e (B) 73 3 ¢al 2=l

(C) el (D) TE-JIM® 2= focarel
147. 95l o M 9

<PICTT A I?JI(Q'N CISIST CoTI<R

(A) =P (B) SI&1e- 7ot

(C) rewan (D) SISl
148. o141 I RS RO™R 9191 Cacz

A) forz= (B) 1=

C) (D) SCTY
149. [ M Az Shredr

‘], SfEpfel e Zor ! SERpT el Thfere 177

(A) < (B) Tl

(C) Tu= (D) et
150. ‘aIfexq 4fies’ qfercal faferie cwimeraidt s e 23 2

(A) TFTL B (B) w8 SHIHR

(C) PPN STl (D) e Greal
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( BENGALI )

121. FT=E SHRRel 29
(A) TS (B) W™
(C) fcom (D) @i

122, @AG AR AP 2206 F© e A 2cEiRe 2
(A) 1899 (B) 1902 e
(C) 1901 (D) 1897 e

123. Ty SalRe @ *=f SRfercsm Tz 2

(A) e (B) =l
(C) *Re (D) TEF

124. & IR ARG el @I’ 2
A) = (B) ©
< = (D) =

125. “GACS ONE o SRS —HCACT XAbre (@I [efS & 2R ?
(A) 2= (B) IS
(C) AT (D) f&®rm

126. Cod (I *10 FeRS T9-9q8 Trege 2
(A) P (B) @
(C) wofel (D) A9l

LPT-2023/P-1/11-C 72



127. oA @D 1T FL LA TR 2
() eI (B) 5=
(C) =PoIfd (D) oz
128. WrpoR R (g oA (&R TA0 97 2
(A) -2 - foTee - 710 (B) -2~ 70w~ for4al
(C) *Re-FFL -] -foT4e (D) “1oe -2 -2 - forgl
129. “‘Ifaica e 23ce o =7 17
QT b oo e e |
(A) G0 (B) 407
(C) faama (D) 351 foyefa 1 A
130. T e 16! Towre DR (i FRAED 2SR ACEANG IR ?
A) s’ (B) ‘Ricam qf*’
(C) =R (D) AR’
131. TG IPI F© G (@ 2[FEA TS PCARCA 2
(A) 1910 (B) 1912
(C) 1913 (D) 1919
132. 3 FEFR T 29

(A)  ISTCE 8 O] [N vl S2ace =R 1
(B) ~ISrwR e 300 AIRR) T4

(C) Sl =2 RIS 2R F1

(D) T2y AfEcs ARy
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133. FALAI IFACF TR T (T TS FCARCA ?
(A) el o (B) GTeIfer Jormv ]
(C) TerFsT 2N (D) w=rel ST

134. “IE@E-SI@E 2%H 19 qfoe 2
(A)  TCEIR AR (B) Q@M@ IR
(C) TFIR AR (D) FATAL IFF

135. V27 NG *FACRCE ACHHIE (P ST -] ICARCE 2
(A) FPrel T7Ea val (B) Wl STepTal (vl
(C) IRFRI (RIS (D) %F T(T™ FWell

136. JIET SR (FF SRI-CABR =B 2
() @i (B) ZCWI-ZARI
(C) wIEs (D) T-2TEAR

137. “‘FreR TrperR Terw e 19 2
(A) <RI TP (B) = e
(C) IMFTZ HCEIAR (D) wTer=Fst AN

138. TN O (I 2470 I Towwe] DS TAof IR 2
(A) I T (B) ‘@ 6
(C) I’ oF (D) ‘ReTsie” 6
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139. I AfBe) “wwee™ BN’ -9 299F (T ?

(A) SR o (B) TP
(C) QAT FEFE (D) TR AR

140. T @EEFE G0 TNy 2o
(A) TEEPED (B) W=
(C) TS (D) ifEeEg

141. G SAF 22N 3R AblTex Ao ol 2o
A) Tfom’ (B) ‘HrpEréa’
(C) “Greranam’ (D) ‘Cmeq omE’

142. T OEE TR o1 b 2
(A) BED (B) o
(C) =l (D) foafd

143. = 3lice 1 F 3 T 207 w2 ?
A) F+¥ (B) 4+3
C) =+737 D) ¥+7

144. TR (INIPRE S 2bfre Toremia w1 i 2
(a) = (B) re48l
(C) e (D) <!
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145. JIE SRR JG-RCeR AR ] 2

(A) TefEmfs (B) wfamfs

() Tsfeio (D) “ffeefo
146. =R’ -7 Afnfice=n 25

(A) W&+ 4R (B) W2 + 4fF

(C) T2« + AR (D) Wl + 4R
147. RS *RFIE IG5 o1 (Pl ST 2C91 FCICZ 2

(A) FEf (B) W&

(C) «arpe (D) ST
148. THAMHE @2 AR = F 2

@) i afe (B) wig <if

(C) ficdy aifs (D) =4 IfF
149. 05 (@ 3¢ e 99 2

(A) 2 € PR (B) @SR @ vwel

(C) =29 ¢ @or (D) TOR € bwef
150. TRPICSH (2Ce N2 MOl 2(ACR, @ @ |

(A)  CTRREICE (B) Tce T=BIcAl

(C) (oTTR 51T (D) R *Magat
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( BODO )

121. ‘formEt oift’ -3 TH—
(A) HHTSTR & =1 (B) IR ot =
(C) SfefHaTie wet = (D) (= Tt |

122. ‘TRAM gt fog amm sei—
(A) BT &M (B) WM =5 WAL
(C) ¥'Hg =% &M (D) TISATY TaTe T

123. TR wEAEE e 71 S gse
(A) TS BIREAT BRI (B) Tamfs mafr s
(C) ST MR S (D) Afort forat gram

124. TEEM J6 GiIsTE MUF a7
(A) Tfe (B) =S
(C) T (D)

125. ‘HigrR’ GieE IeUT AT 917
(A) ST HieTg (B) ==
(C) wreTEs (D) fe=rar Hierg

126. ‘GHal SEQAr G AESTeE! 91 fmE TR Area?
(A) T A=, 1993 (B) Y A=, 1994
(C) Ty &< 9, 1993 (D) WA TS AW, 1994
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127.

O HEETERRE! Ag @i e = RS sieme—
(A) el amafea (B) eI <R
(C) WHreA (D) e

128.

oSt sreENTEE foam wreEty o ammeem—
(A) @ (B)
(C) o EEL

129.

g AT s oSS MA SRAE SigE JEl geH—
(A) 1995 (B) 1994
(C) 1996 (D) 1993

130. TR fog ToA™ W Wrems—
(A) TeraTafT e 2 (B) @ierEt fam@t @it 7 |
(C) FFHM SHET @R (D) =g frm =@
131. TEE ST fomr Ta wRAE aifa T=1?
(A) =Y BREH EFEIE TEl drEHe (B) HUEHTRRH GRS &l araHm
(C) WISl rgEn gFTE (D) 7RI TS I
132. 2022 AEAEH Hifecd SAHeH I JiAl g STei?
(A) Tt =red (B) frar =1’
() sfeu =’ (D) g &
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133. ‘foaR gm'e s& gt wE aefm g T e
(A) 1919-1940 (B) 1920-1940
(C) 1920-1941 (D) 1919-1941
134. ‘FreRfg gren’ ansfeEn Jrse fogd SEmE?
(A) 1940 AT (B) 1939 HrETEATE
(C) 1936 AT (D) 1934 HETEAE

135.

T T TRATN \fefSe gt S diselt /e S e
(A) 2001 HEYEAE (B) 2003 HEYTEAE
(C) 2004 HEITEAE (D) 2005 HEITEAE

136. U TIEI e S34T3 Tl STEEHM- STURE! i o7
(A) forso srETE T (B) o fio o wgmmd
(C) o foeft T ea (D) %o To T
137. A% qaEt A QAERT S
(A) SIS ST T WA 38|
(B) smafe smafe ffrema e gisan A S|
(C) U™ HHTY TSl EHTE-JHH |
(D) formm T’ =1 STE Stef T |
138. MEEM F&1 TawEr-af aTern TS
(A) Teamf (B) T HeXfY
(C) T@t-afey (D) =g wEH
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139. TEAE SFE Fd a3 =4 -fdsadmit 1a wierH T=1?
(A) TR (B) femman
(C) i (D) =it

140. 2021 HEATEH Afecd Ty Sl U6 eI ARGISTe s T 379 GRAT 21 STeHH ¢
(A) isifer 2T (B) IfeU &
(C) Aol AT=IRY (D) sfeu =

141. safrgsel fifafm g @ fosmaf ger sema—
(A) #wfd o (B) TR
(C) eLate Wiy (D) SsmEf 31

142, THIM TER—a1, st 3 fed-aide fog foram ggsn sSem—
(A) TS5 AR S (B) WH'T=H R
(C) forgrm = (D) SRR s

143. T YIS ATHEE! I9 HAATSATE TR ST TR ST ¢
(A) 1952, HIFTIR (B) 1952, STgmE
(C) 1953, fersrt (D) 1954, TETerd!

144. GHIEMET AW TSTHE -] F6—
(A) g ferfeeen (B) g el ferfaeem
(C) e Sman farferen (D) @ et ferfeeen
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145. ‘e M g3 O @t 9r ggamE?
(A) BRI ST (B) TR Tl
(C) TN sgHTar (D) WM == AEE

146. ‘ST TS 1 AW g
(A) ST ST AT A (B) STf G @ Hrseln IS
(C) SR AR M3 (D) ST WETHE! JiST qTat

147. M smma ety ffm asmeern e sm—
(A) (B) =
(C) = (D) =

148. HiE! Bl STElsell—
(A) T S (B) @MY wT@En
(C) @MY e (D) | g

149. U [EAE HIFaE WIS A SAR—H™E ST ?
(A) HHS (B) A
(C) wHuH (D) HFaT

150. TERE F937 ATelise gl T17
(A) % (B) T
© T D) 3
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( HINDI )

121. GEE fGdt & vom Aeeme TRyEs’ & @ER €
(A) wTEFeTe SIgee (B) HrfSrefremor m
(C) TTIHTE A EE (D) 3rneiag Iyt ey’

122. W &I ge @ &t fit @ @i 2.
(A) Tehfud (B) gt
(C) urfydeh (D) Tt

123. ‘a1, T, T w@fEr g
() &H = (B) &% TR
(C) ™d TR (D) 318 TR

124, ‘IR W T @ gark #1 F:m 339 27
(A) S-SR BRI B HET (B) I-1E P& T @
(C) Th & Ho (D) ferafera g

125. ‘oW drer GereR 1 TN R oTmee § gar 27
(A) Tor v Fw foram (B) sfean foremn
(C) HEarul s T I EEEIERSIE

126. WEETES 930 & @
(A) HFEd (B) @
(C) g=a (D) wgaT
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127. 39E sl U= i
(A) 9T, BR, 3 (B) 3R, oft, @I
(C) 3, =fw, =fd (D) g, T, &

128. ‘U4 v fird 21 sq 9@ ° ‘w0’ e foRe e § 27
(A) =¥ (B) i
(C) e (D) =T

129. wfifer veg-axg 1 g
(A) HH, W, U (B) T, TV, TEF
(C) =@, geid, Siret (D) 3ifd, e, qeaR

130. ‘‘Hifeteh 4 G € M A 39 a9l RAT-UE ¢
(A) ST TR (B) GIh okl
(C) @ fopam (D) feres fopem

131. HIGWT-ferr o1 389 ©
(A) Toenefi & 79 & @kl Arar % 9id Fg7-9E SEE|
(B) Tereneff % gea # 3okl WigfH & Ufd wih-wa &1 G9R |
(C) feremeff =1 TR ATGUTHT T TRIE T YSH FAT|
(D) Teremeff =l 319w = & fq SeTEs AT

132. WY RISl hl B HH 61 & F9 2 :
(A) G, Sie, gedT, foraa (B) e, g1, foraar, ge|
(C) weT, g1, forem, s | (D) ferat, g, S, g
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133. ‘&t wreg i sycafe for wse @ A ST 27

(a) oy B)

(C) et (D) fegg
134. WHH &l 1 g TR ¢

(A) Faef (B) eyl

(C) s (D) @t
135. et it g9 2 -

(A) TE (B) TSR

(C) u=rel (D) STt
136. ufwert &t i aeft 7= © -

(A) TS (B) HTetat

(C) et (D) famf
137. ‘et vreg o1 1 T 7

() %18 (B) WIRFHH

(C) =y (D) g
138. F@W & JAA HH 47

(A) ™ (B) T

(C) =AM (D) Rer=r
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139. ‘TH=faarE’ s A1 fidt i fora st § ot w=h 27

(A) FTEe (B) BataE!

(C) s (D) 3Tt
140. ‘T o1 fiRer Murer, ol 9 #1517 78 forent o 27

(A) T@EH (B) HRiamg

(C) A=ct™ (D) fer=mafa
141. 79 9Rd=g N5 1 S0 o8 Sell o gatm o’

(A) 1868 (B) 1880

(C) 1850 (D) 1885
142. =9H yEE fgadt grn e v R

(A) STOTTE Y STTHRAT (B) wiidt &t T

(C) et il FRaY (D) femeran
143. ‘& aifec 1 garyg sfoe’ & @Rar € -

(A) Sfo g (B) Sfo TWFHAR =

(C) TH=+Z & (D) T TSR
144, STEE THe5 Y 1 He-4-90g 2

(A) FTfEcT-TE=R (B) U=

(C) Tamammfor (D) g
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145. TerER yore fgadt 3 fora afient =1 grarea fomam on?
(A) @ (B) wx&adt
(C) Jama (D) g
146. T3 IH== 1 TG W o :
(A) EIRE (B) UG
(C) Aga™ (D) FEATT T
147. &9 ‘ot 1 ford To o IS UEhT TTH gAT o1
(A) Fwad (B) wRreft
(C) et (D) WA

148. ‘TH H wfh-TeM hl T A 2
(A) TRl (B) TRFay
(C) feem (D) frren
149. waREt AEed aul il EEHH H g3 A7
(A) 1980 3o (B) 1987 3o
(C) 1970 %o (D) 1975 %o
150. ‘WIRH &1 St ¥ = g-Taqn foraehl 27
(A) THge g (B) ¥&d SRH
(C) Bt TeaTé (D) =T errarr
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( HMAR )

121. ‘Pielral’ ti umzie chu :
(A) Khuolram (B) Mithi sungkuo hai
(C) Vadung ral tieng (D) Mithihai umna Vanram

122. ‘Ni tla ngai naw Zion khawpui’ ti hla phuoktu chu :
(A) Pastor S. Lienrum (B) V. T. Kappu
(C) Pastor Thangler (D) Pastor Thangngur

123. ‘Dawn suksei’ ti umzie chu :
(A) Ruono sei deu a tui dawn (B) Thingpui dawnna
(C) Ngaituo suksei (D) Thil indawn

124. “Kan tlangram hi par tinreng an vulna, A va mawi ngei dar ang kan léngna” ti
hla phuoktu chu :

(A) Lalbieklien (B) T. Khuma
(C) Lalsanglien Zote (D) Laltlansang

125. Andik tak thlangsuok rawh :
(A) Futbawlpetthiem ka tum a nih (B) Futbawl pet thiem ka tum a nih
(C) Futbawl petthiem katum anih (D) Fut bawlpetthiem ka tum anih

126. Tulai thangthar laia inlar deu Zawlkhawpui lamthuomtin ka hrutvela’ ti hla

saktu chu :
(A) B. Lalsanglien (B) Maryjon Thlawngate
(C) Lalsangien Zote (D) Gloria Khawlhring

LPT-2023/P-1/11-C 87 [ P.T.O.



127.

‘Khieng mi awisan naw la’ ti umzie chu :
(A) Mi maksan naw rawh

(B) Pasal dang mi neisan naw rawh

(C) Ka khat chauin m’n umtir naw rawh

(D) Nau min awipék naw rawh

128. Andik tak thlangsuok rawh :
(A) A thla lak ka lo hmu a (B) A thlalak kalo hmu a
(C) A thlalak ka lo hmu a (D) A thla lak ka lohmu a
129. Hmar tawng LP School a inchik Assam sawrkarin a phal kum chu :
(A) March 5, 1968 (B) March 25, 1969
(C) May 16, 1970 (D) February 5, 1965
130. Andiknaw tak thlangsuok rawh :
(A) Thung pha sei kan ka siem a nih (B) Thungphasei ka siem a nih
(C) Ka ruolhai lekha ka thawn a nih (D) I va tlan hrat lawm lawm deh
131. ‘En tu’'m mihrang pasalthahai,
An sinlung ram chu maksanin’ ti hla phuoktu chu :
(A) H. L. Sela (B) L. Keivom
(C) Darkamlo (D) Kama Sungte
132. Van in mawi panna zalampui, A sira léngkir leiin bohmang kan lau’ ti hla

phuoktu chu :
(A) V. T. Kappu (B) Pasor Taisena
(C) Thangler (D) Pautinkhup

LPT-2023/P-1/11-C 88



133. ‘Khuovang fe lai’ umzie chu :
(A) Inri mu mur (B) Khawhri fe lai

(C) Ri nei lova to thap lai (D) Hrattaka tlan

134. ‘Chawi-um ang’ ti umzie chu :
(A) Innghak khawm (B) Tui-um ang

(C) Nu, piengna nu (D) Kawtsuo

135. ‘Laimi’ ti umzie chu :
(A) Ram dang mi hai (B) Nau mi lai
(C) Ral, hmélma (D) A laitaka mi

136. ‘Hransar’ ti umzie chu :
(A) Ral lu (B) Hlo hram
(C) Parte chi khat (D) Thing chi khat

137. Andik tak thlangsuok rawh :
(A) Inchunga inthawkin vate a tla thla
(B) In chunga inthawkin vate a thla tla
(C) Inchunga in thawk in vate a tla thla

(D) Inchunga inthawk in va te a thla tla

138. Hmar tawnga vowel iengzam a um a?
(A) 9 (B) 10
) 7 (D) 6
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139.

Andik tak thlangsuok rawh :
(A) Zawlkhawpui
(C) Zawlkhaw pui

(B)
(D)

Zawl Khawpui
Zawl khaw pui

140.

Andik tak thlangsuok rawh :

(A) Tleirawl haiin tlavar hnuoiah tlan an in el a an tlan a suok

(B) Tleirawl haiin thlavar hnui a thlan an

(C) Tleirawl haiin tlavar hnuoiah thlan an

(D) Tleirawl haiin thlavar hnuoiah tlan an

in el a an thlan a suk
in el a an tlan a suk

in el a an thlan a suok

141. Andik tak thlangsuok rawh :

(A) Kawtkhar va hawng rawh (B) Kawt khar va hawng rawh

(C) Kawtkhar vahawng rawh (D) Kawtkhar va hawngrawh
142. A ziek dan indik tak thlang rawh :

(A) Be thle hem bawng in (B) Bethlehem Bawng in

(C) Bethlehem bawngin (D) Bethle hem bawngin
143. ‘Chengrang’ ti umzie chu :

(A) Silaimu (B) Thal

(C) Hreipui (D) Silai
144. Andiknaw tak thlangsuok rawh :

(A) Ngoui ngoui (B) Sieu sieu

(C) Thuop thuop (D) Dur dur
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145. ‘Nghil naw la hnam lungmawl ram inthim khi,

Par kar nghakhla’n thutin an sir’ ti hla phuoktu chu :
(A) Thattinlien (B) Dr. Thanglung
(€) T. Khuma (D) H. Thiek

146. “Zantieng vangkhuo sumtuol zawlah,

Lenruol kimten nun kan nuom’ ti hla phuoktu chu :
(A) H. Suokhum (B) L. T. Pudaite
(C) Pawlsiemlien (D) Hmuoka

147. Andik tak thlangsuok rawh :
(A) Kunga chun, “inthlai ching a tha khawp el,” Thangi kuomah a tih
(B) Kunga chun, “In thlai ching a tha khawp el,” Thangi kuomah a tih
(C) Kunga chun, “Inthlaiching a tha khawp el,” Thangi kuomah a tih
(D) Kunga chun, “in thlai chinga a tha khaw pel,” Thangi kuomah a tih

148. Andik tak thlangsuok rawh :
(A) Reng thei pumhni mi pe ta (B) Rengthei pum hni mipeta
(C) Rengthei pumhni mipe ta (D) Rengthei pumhni mi pe ta

149. Dite ka ngai em che’ ti hla a a phuoktupa khan ieng hai kara khan am ie a
hmangaina a thawn kha?
(A) Mihai karah (B) Tlanghai karah
(C) Virthliléng hai karah (D) Vate hai kuomah

150. ‘Aw nang kan lengna Hmartlangpui, Par ang hung vul zing raw’ ti hla phuoktu

chu :
(A) Kama Sungte (B) H. Suokhum
(C) L. Keivom (D) Darkamlo
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( KARBI )

121. Osomar aphan birta alo, lamsai, tomo akitap heihui kaporhe kethan ke kopi abidi
kepangcho aphan lo?

(A) Kaporhe (B) Ketok
(C) Karju (D) Kaningje
122. “Sining kilir Arong keme

Matsi kivit ma?
Ne bihek 0s0 aning
Lason nangvit tha.”
‘Sining kilir’ pu ahirjir komat si ketok lo?
(A) Ruplan Engtipi (B) Lunse Timung
(C) Jorsing Bey (D) Bidorsing Kro

123. ‘Socheng’ Karbi Recho arong (Pinpo Arong) komat Terang Dili kedo ahut si Ha-imu
alamjir keklang lo?

(A) Dili Terang (B) Bor Dili
(C) Long Dili (D) Sarpo Dili
124. “Sintu nangta Mir jove

Vangdong biri achele
Pijo plipli ta sokse
Lake mir ta tin ponpe.”
‘Mirjove’ bangso ahirjir ketok abang komat lo?
(A) Phulmoti Teronpi (B) Molan Engtipi
(C) Anima Terangpi (D) Mebel Terangpi

125. ‘Aso an ridam, api hem chonghong’ puke kopilo?
(A) Birik (B) Bapthili
(C) Sainihem (D) Hijap
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126. ‘Inghoi athak le ingni noi’ Ladak dimthan kolo abang lo?
(A) Inghoi (B) Noi
(C) Ingni (D) Athak

127. ‘Oso prak jangtang, aphi prak kangthin’ pu kopi aphan si kipu?
(A) Aprang pen bidi kiri (B) Phodet aphi si bidi kiri
(C) Keklem ahut bidi kiri (D) Ketong ahut bidi kiri

128. Bonglong Terang komantu aning kan si pirthe kehache lo?
(A) 1909 (B) 1923
(C) 1936 (D) 1940

129. Karbi ajutang along ‘Sikopi’ puke komat achor aphan si kipu?
(A) Rong Asar achor (B) Lindok achor
(C) Habe achor (D) Pherangke achor

130. 1955 aningkan Khorsing Terang arong chevoijui pen komat abangsi CEM arpu
kedeng dun lo?

(A) Nihang Rongphar (B) Semson sing Engti
(C) Sarsing Teron (D) Dhaniram Rongpi

131. ‘Nepi alam Ne kachinghon chenam’ pu alunjir komat si ketok?
(A) Longkam Teron (B) Jorsing Bey
(C) Rongbong Bey (D) Kehai Bey

132. ‘Chehepi ipum karvo lank teroi phuktang’ kopi aphan si kipu?
(A) Inut kechokche ajoine phorap pet (B) Inut aning keme ajok me rappet
(C) Inut aphan pu aret (D) Inut aphan arvak hup

LPT-2023/P-1/11-C 93 [ P.T.O.



133. Rongchecho Lindok komat abanglo?

(A) Ronghang Lindok (B) Teron Lindok
(C) Rongpi Lindok (D) Kiling Lindok
134. “Chinine hemphu komatlo nangli

Kodak chepatuma,
La an kanghon la an kajinso
Nang nekala.”
‘Arnam Kardom’ ahirjir komat lo ketok?
(A) Bonglong Terang (B) Lunse Timung
(C) Barelong Terang (D) Longkam Teron

135. “Lank arlo taksu do.” Pu ke kopilo?
(A) Ok (B) Phurui
(C) Chikung (D) Chehe

136. Kolo abang si ‘Men’ lamplak lo?
(A) Kimu (B) Kithu
(C) Kijun (D) Kemen

137. ‘Bong kejoi pupe, arleng kejoi pupe’ laso a sarlamthe kopi aphan si kipu?
(A) Ning joino aphan (B) Ning mesen aphan

(C) Jat ta akam vang aphan (D) Jat akam ta ave aphan

138. Ru Semson sing Engti ketok akitap kolo abang lo?
(A) Bituso (B) Dampijuk
(C) Tamahidi (D) Lammet pangrum
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139.

‘Karbi Sankur’ pu alamthe along ‘San’ puke kopi aphan si kipu?
(A) Hini (B) Kethom
(C) Phli (D) Pho

140.

Hirjir kihir kethan ke kopi abidi kepangcho aphan lo?
(A) Kaningje (B) Karju
(C) Ketok (D) Kacharli

141. Hako ahut Karbi Recho arong kolo abang lo?
(A) Ronghang Ronbong (B) Chinthong Rongbong
(C) Durong (D) Borpu Anglong

142. “Pu Nihang akengri

Tung-eh Long Kamar Longki (si)
Chongnok atiri
Bang aphandar nang kibi.”
‘Thelu Alun’ alun along ‘Long Kamar Longki’ akur kopi lo?
(A) Rongpi (B) Ronghang
(C) Timung (D) Teron

143. Karbi Cultural Society (KCS) kechengsi ameiphu komat lo?
(A) Longkam Teron (B) Lunse Timung
(C) Bidorsing Kro (D) Roy Inghi

144. ‘Chehe rimso Ramlok kepangthai’ pu ke kopilo?
(A) Rit kepan (B) Mandu ki kim
(C) Ram kepan (D) Chu kangtip
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145.

“Barim ke rong damjui, alang ke chingki mesen.” Ladak menlar kolo abang lo?
(A) Barim (B) Alang
(C) Rong (D) Ladak

146.

Ingnar vang tanglo hemtap’ puke kopi aphan si kipu?
(A) Ketong ahut bidi kiri (B) Akam jutdet aphi bidi kiri
(C) Kevangji ahut bidi kiri (D) Klembom ahut bidi kiri

147.

Karbi Language Textbook ‘Hunmili’ konat pensi kepaklang lo?
(A) KLA pen (B) KLDB pen
(C) KCS pen (D) KSA pen

148. Ronghang Rongbong along Artu koan do?
(A) Artu isi (B) Artu hini
(C) Artu kethom (D) Artu phli
149. “Ja sanglin pen klirme

An sarhang phubhe,
Bongsuk pangphar che

Khima Rimre che.”

Ladak ‘sanglin pen klirme’ pu komat aphan si kipu?

(A) Ong pen Ni (B) Osa pen Ni
(C) Meh pen Ni (D) Lok pen Ni

150.

Karbi Anglong District Council along CEM kemancheng abang komatlo?
(A) Khorsing Terang (B) Khorsing Bey
(C) Chatrasing Teron (D) Dhaniram Rongpi
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( ALTERNATIVE ENGLISH )

121. Identify the correct meaning of the underlined portion of the sentence.

“To avoid any misunderstanding, the two parties decided to have everything
in black and white.”

(A) Painted in two colours (B) Sequentially, as it happened
(C) Judged by a third party (D) Written down

122. Which of the given options would change the following sentence from superlative to
positive without changing the meaning?

“Rupali is the smartest girl in our class.”

(A) Very few girls in the class are as smart as Rupali.
(B) No other girl in the class is as smart as Rupali.
(C) Many girls in the class are as smart as Rupali.

(D) Rupali is as smart as any other girl in the class.

123. If Tapan scored 87 and Madan scored 92 in English, then which of the following is
correct?

(A) Tapan scored lower than Madan. (B) Tapan scored lowest than Madan.

(C) Tapan scored low than Madan. (D) Tapan scored least than Madan.

124. Which word can be used for ‘one who does not know how to read and write’?
(A) Literate (B) Iliterate
(C) Unschooled (D) Unread

125. Sportsman who plays for fame and glory, but not as a professional, can be

termed as
(A) amateur (B) novice
(C) immature (D) expert
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126. Identify the correct option to fill in the blank :
Is he the person ready to help us?
(A) who'd (B) who’re
(C) who’s (D) who'll
127. At the end of their meeting, a small mouse asked, “So bell the cat?”
(A) who'd (B) who'll
(C) who’s (D) who'’re
128. Perfect, slant feminine, end, masculine are the types of

(A) Rhymes (B) Poems
(C) Essays (D) Idioms

129.

Identify the incorrect pair.
(A) Elder : Geriatric (B) Child : Paediatric
(C) Bones : Orthopaedic (D) Mouth : Mesozoic

130.

Which of the following would best describe a collection of cut-flowers prepared as
gift?

(A) Bunch (B) Bundle
(C) Bouquet (D) Blossom

131.

Teaching foreign language by not permitting the use of the learners’ native
language and allowing the use of only the target language is a characteristic of

(A) natural method
(B) direct method
(C) bi-lingual method

(D) grammar-translation method
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132. Even though some of the words were misspelt by the child, a teacher is
appreciating the child for his/her overall language use. By doing so, which
approach is the teacher adopting in the class?

(A) Whole language approach (B) Eclectic approach

(C) Cognitive approach (D) Communicative approach

133. The two broad categories under which four basic language skills are categorized,

are called
(A) listening and speaking (B) reading and writing
(C) presentation and production (D) receptive and productive

134. The productive skills of language are
(A) reading and writing (B) speaking and writing

(C) reading and speaking (D) listening and speaking

135. Which of the following is correct about textbook?
(A) Textbooks are the only source of classroom information.
(B) Textbook helps in planning of educational activities for the session.
(C) Textbook helps to achieve the objectives laid down in the curriculum.

(D) Textbook is only for helping the teacher in delivering content.

136. The purpose of continuous comprehensive evaluation (CCE) in language is to
(A) assess the student’s completion of the textbook
(B) assess learning aptitude of children
(C) plan weekly test

(D) assess the level of competencies achieved by the children
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137. For teaching a language, the correct order of imparting basic skills is
(A) listening — speaking — reading — writing
(B) speaking — listening — reading — writing
(C) listening — speaking — writing — reading

(D) reading — writing — listening — speaking

138. Language skills can be learnt better
(A) with the help of challenging drills
(B) through written practices and tests
(C) if they are taught in an integrated manner

(D) if taught in isolation

139. The alphabetic method, the phonic method, the word method and the sentence
method are associated with which basic skill?

(A) Listening (B) Reading

(C) Speaking (D) Writing

140. Charades and Pictionary are the examples of
(A) cartoon characters
(B) pre-primary workbooks
(C) language learning apps

(D) language games
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141. Which word can best replace the underlined word without changing the meaning?
“We should always try to maintain and promote communal amity.”
(A) Bondage (B) Dependence
(C) Friendship (D) Conflict

142. Fill in the blank with appropriate option.

“I working all afternoon and have just finished the assignment.”
(A) have been (B) shall be
(C) am (D) had been

143. Identify the tense used in the sentence.
“John met the officer in the evening.”

(A) Past perfect tense (B) Simple past tense

(C) Past continuous tense (D) Past perfect continuous tense

144. Identify the appropriate option to till in the blank.

“Her is beyond belief sometimes.”
(A) stupid (B) stupidity
(C) poor (D) poverty

145. Which part of speech is the word underlined in the sentence?
“My third attempt at making bread was a bit more successful.”
(A) Noun (B) Adverb
(C) Verb (D) Preposition
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146. Identify the phrase in the sentence.
“Melissa returned at sunset.”
(A) Melissa returned at (B) Melissa returned

(C) returned at (D) at sunset

147. Identify the correct question tag to complete the sentence.

“l am allowed to take photographs inside the museum, ?”
(A) am I (B) aren’t I
(C) can’t I (D) don’t I

148. Identify language function of the sentence :
“We would be delighted if you could come with us.”
(A) Request (B) Direction
(C) Invitation (D) Helping

149. Identify the correct option to complete the sentence :

“The puppy jumped out the open window.”
(A) between (B) over
(C) about (D) through

150. What do you understand by the underlined portion in the sentence?

“Alexander gave a wide berth to the Magadha Empire respecting its power and

strength.”
(A) Gave no support (B) Gave no assurance
(C) Kept away from (D) Supported openly

LPT-2023/P-1/11-C 102



SPACE FOR ROUGH WORK

LPT-2023/P-1/11-C 103 [ P.T.O.



SPACE FOR ROUGH WORK

LPT-2023/P-1/11-C 104 B23



	Paper-I-C
	Cover_Eng-C
	Cover_Ass-C
	Cover_Ben-C
	Cover_Bodo-C
	Index-C
	Part-I-C
	Part-II_(31-60)-C
	Part-III-C
	Part-IV-(91-120)-C

	Part-V#C
	Part-V-1-Assamese-C
	Part-V-2-Bengali-C
	Part-V-3-Bodo-C
	Part-V-4-Hindi-C
	Part-V-5-HMAR-C
	Part-V-6-Karbi-C
	Part-V-7-Eng-C


